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DIFS

BUSY CW CTS

SIFS SIFS SIFS

DATA

ACK

Source node 
A

Destination node 
B

BUSY CW Node D sets NAV according to RTS

Neighbors 
within coverage

Receiving
RTS

Receiving
CTS

Nodes C and H set NAV according to CTS

Receiving
ACK

Receiving DATA

t-1 t0 t1
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BUSY CW RTS_A

DIFS

BUSY CW CTS_B

SIFS SIFS SIFS

DATA_A

ACK_B

Source node 
A

Destination node 
B

BUSY CW
The exposed 

node D

Receiving
RTS_A

Receiving
CTS_B

Sets NAV according to the RTS_A

Receiving
ACK_B

Receiving DATA_A

DATA_D

BUSY CW
The neighboring 

node G

Receiving DATA_D

Receiving
ACK_G

ACK_G

Note: 1. DATA_D is sent if the medium access of D is only prohibited by RTS_A

4-way

2-way

2. ACK_G is sent if G can access the medium as usual as in CSMA/CA
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Resource -
efficiency

• 6 RF transceivers
• 6 baseband units
• 1 multi-processor MAC 

controller

six-sector MDA system 
+ MDA-MAC, PM

• 6 RF transceivers
• 1 array signal pross. unit
• 1 baseband unit
• 1 MAC controller

six-antenna DBF smart 
antennas system + 
Dir-MAC

• 1RF transceiver
• 1 baseband unit
• 1MAC controller

Single antenna omni-
directional system + 
CSMA/CA

Hardware complexity

Average 
power 
consumption

Network 
throughput
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•
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•
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•
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Resource 
efficiency

• 6 RF transceivers
• 6 baseband units
• 1 multi-processor MAC   

controller

six- sector MDA system 
+ MDA- MAC, PM

• 1 RF transceivers
• 1 baseband unit
• 1 MAC controller
• Few additional components

SSB system + 

SSB-MAC

• 1 RF transceiver
• 1 baseband unit
• 1 MAC controller

Single antenna omni
directional system + 
CSMA/CA

Hardware complexity

Average 
power 
consumption

Network 
throughput

• 6 RF transceivers
• 6 baseband units
•-

• 1 RF transceivers
• 1 baseband unit
• 1 MAC controller
•

•
•
•

omni-

Hardware complexity
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SP3T RF switch Evaluation Board

In-phase RF 
Combiner / Divider 
Evaluation Board

upper-layer 
software

RF transceiver 
Development Kit

RF

switching command 
(SWCMD)

CC2400

4-wire SPI, for 
control logic and data

via PCI slot

USB cable, only used to load the FPGA firmware for CC2400 kit 

CC2400DK

RAPTOR2000

SSB Processing Unit

SMA 
connector 

(male) RF 
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SMA 
connector 

(fmale)

single antenna
or SSB

other control signals
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power line

control input 
(switching command)

AS204-80

single pole

AS204-80
evaluation board

4	���� +5
� )�	 	������
�� ����� �� ��	 !� 
3
��� ?:,-F$.-



 � �
�
�	��
���� �	�
�	# �����	����	� ��

 �	�
�	 ��
� �5	���	 
�$5��
	 �
 �	9�
�	�

�2 ::(# )�	 
�	�� �5	���
�� 3���� �	
��� 
� ��	 �����3
�� �3� 5��5	��
	
" 
� ��	 !=

5���	

� 
� ��	 �3� �	�	
�	� !� 

����
 ���	 ��	 
��	 5��
	 ��� ��5�
���	� ��	� ��	

���5�� 

���� ����
�
 � 1 �( ��
�� ��� ��2 	45	�
	��	 � 5��
	 
�
�� 
� �	5	��	��	 ��

��	 
��	���� �
���
� �	

��R 
� ��	 )= 5���	

� ��	 

���� �� �	 ����
�
��	� 

 �
�
�	�


��� �3� P�3
� 	��� 3
�� � 1 �( ��

 ��� ��	 
��	 5��
	 
�
��# )�	 ��

� 5�
��
5�	 ��

��

 �	�
�	 

 ��
	� �� ��	 1 �( '
��
�
�� 5�3	� �
�
�	�� �	�	� �� MG-N ��� �	��
�
#

)�	 F?*1-G ,$3�2 '
��
�
�� 
�����	 ����� 5�����	 ���� ?���	� 

 
	�	��	� �
 ��	

!� 
�$5��
	 ����
�	� D �
�
�	� 
� ��	 �	
�$�	�# �� 

 � 5�


�	 ���5��	�� 3
�� ��	

5	��������	 �� -#F �( 
�
	��
�� ��

 ��� *, �( 

����
�� �� ��	 ,#F �8� ��	9�	��2

����# �� 

 ���	 �� �	�� 3
�� ��	 !� 5�3	� �5 �� G '# )�	 -#F �( 
�
	��
�� ��




�5�
	
 ���� 
� ��	 != 5���	

 ��	 ����
�	� 

���� ��4
����2 ���
	�	
 � ,#/ �( ��
�

>	�	� ������ ��	2 ��	 
��
���2 
�$5��
	 ��� ���	 ��	 	9��� ��5�
���	@� ��� 
� ��	 )=

5���	

 	��� �� ��	 
	5����	� 

���� 	45	�
	��	
 � 1#, �( ��

 >���5��	� �� ��	 
�5��



����@# )�	 �3� 
	5����	� 

����
 
� ��	 )= 5���	

 ���	 
��
���2 ��	 
��	 5��
	 ���

��5�
���	� ��3	�	� ��	 �3� 

����
 �� �	 ����
�	� 
� ��	 != 5���	

 ��2 ��� �	 
�$

5��
	 ���0�� ���	 ��	 
��	 ��5�
���	# �� ��

 ��
	 F?*1-G ��� 
�
�� 3���� ��� 
��	



���� 5�3	� 3
�� �	 �



5��	� �� 
�
 
��	���� �	


��� 
� ���� �� ���
�
���� 
�
	��
��

��

 3
�� �	 ���
	�# )�	 ���	 �
6	�	�� ��	 �3� 

����
 �� �	 ����
�	� ��	� ��	 ���	

��

 ��	2 	������	�# �
�# G#1 
���
����	
 ��	 	������
�� ����� �
	� �2 ��	 �	
�$�	�#

2���0 �� ����	�

���� �
�# G#* 3	 ��� 
		 ���� �3� �25	
 �� !� ����	
 ��	 �
	� �2 ��	 �	�	��5�	��

����	� ��	 �25	 �
	
 ��	 ���	 :�? ����	���� �� ���� 

�	
� ��� ��	 ���	� �25	 �
	


��	 ���	 ��� �	���	 :�? ����	���� �� 	��� 

�	� �	
5	��
�	�2# )�	 �	���� �� ��� !�

����	
 

 �	5� ��	 
��	� *, ��� �� 	�
��	 �� 	9��� 5��
	 
�
�� �� ��	�# �4�	5� ���



�! ���$��� +5 ""' �����,�� �#$��#�����	�� ��� �������#����

4A1305

4	���� +5�� )�	 	������
�� ����� �� ��	 !� ����
�	� D �
�
�	� F?*1-G

��	 5��
	 
�
��� ��	 
�
	��
�� ��

 ���
	� �2 ��	� 

 �����	� 5����	�	� ���� ��
 ��


�5��� �� ��	 5	��������	 �� ��	 �	
�$�	�# �� ��	 	45	�
�	��
 ��	
� :$5����	�	�
 ��	

�	�
��	� �

�� �� !� �	�3��� ����2�	�#

1a

1b

2a

2b

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

2

1

2221

1211

2

1

a

a

SS

SS

b

b

4	���� +5!� :$5����	�	�
 �� �� !� ����	#

:$5����	�	�
 ��	 3
�	�2 �
	� �� �	
��
�	 ��	 ����
�



�� �������	�

�
� �� � 5�


�	

!� ���5��	�� MG-N# )�	 �	7�
�
�� 

 �
�	� �2 ��	 	9���
�� 
���
����	� 
� �
�# G#F#

���� 
� 3	 ��� 	�

�2 ����
�

b2 = S21 · a1 + S22 · a2, >G#*@

���

b1 = S11 · a1 + S12 · a2. >G#,@

��� 	��� 

�	 a �	���	
 ��	 
��
�	�� 

���� ��� b �	���	
 ��	 �	P	��	� 

����# �� ��	


��	��	� 

���� ����
�



�� �
�	��
�� 

 ���� �	�� �� �
��� ��� �

��	 ���� ��	 
��
�	��



���� a2 �� ��	 �
��� 

�	 

 �	��� ��	� ��	 �����3
�� �	���
��


b2 = S21 · a1 >G#1@

���

b1 = S11 · a1 >G#F@



+5
 ����&��� 	#$��#�����	�� �+

��,�� +5�� �	�
��	� :$5����	�	�
 �� ,#1+,F �8�#

!� ����	 S110�( S120�( S210�( S220�(

���	$���	 * $1+#/*+ $-#*.,G $-#*F-H $1H#-./
���	$���	 , $1F#F,/ $-#,-11 $-#*G*1 $1F#.1.
���	$�	���	 * $,1#*.H $-#,F1F $-#*+.- $,F#+-.
���	$�	���	 , $,1#1+1 $-#,-GH $-#*/,, $,1#G,1

��,�� +5
� �	�
��	� :$5����	�	�
 �� ,#FF,1 �8�#

!� ����	 S110�( S120�( S210�( S220�(

���	$���	 * $,F#G+. $-#,--* $-#*/.F $,,#/FG
���	$���	 , $,1#FH+ $-#,*.- $-#*.G- $,,#--*
���	$�	���	 * $,1#H.1 $-#,1,H $-#*++/ $,+#F+-
���	$�	���	 , $,1#FGH $-#*+-, $-#*/1+ $,/#.F+

����# �� � �	�� 
2
�	� ��	 
��	���� �� ��	 

���� a2 �	5	��
 �� ��3 ���� ��	 �	4�

���5��	�� �����	
 ��	 �
��� 5��� �� ��	 ����	� 3�
�� 

 �	��
�
��	 �� ��	 �	�3���

����2�	�# )�	�	���	� ���� �9
# >G#1@ ��� >G#F@ 
� ��� �	 �������	� ���� |S21| ���
�	 �	����	� �
 ��	 >���3���@ ����
�



�� ���	 >��
� ����	� ���5�
��@� ��� |S11| ���
�	 �	����	� �
 ��	 >�	�	�
	@ �	P	��
�� ���	 >��
� ����	� �	���� ��

@# )�	�	���	� ��	


�
	��
�� ��

 ��� �	 �	�
�	� �


L = Pin/�(�− Pout/�(� = −20 lg |S21| = −S21/�( >G#G@

)��
# G#* ��� G#, �
�	 ��	 �	�
��	� :$5����	�	�
 �� ��	 ��	9�	��
	
 ���� ���
	�2

�55����� ,F-- �8� ��� ,F11 �8�� �	
5	��
�	�2# ��� 	��� �25	� �3� ����	
 ���	 �		�

�	�
��	�# )3� �	
���
 ��� �	 ��
	��	� ���� )��
# G#* ��� G#," �
�
�� ��	 
�
	��
��

��

 

 �	�2 
����� ��3�2
 �	

 ���� -#, �(R 
	����� ��	 
2��	��
� 
��5	 �� ��	 ����	


��� �	 �	P	��	� �2 ��	 

�
���
�2 �	�3		� S11 ��� S22� ��� �	�3		� S12 ��� S21# ��


����� �	 ���	� ���� 3�	� � :$5����	�	� 

 	45�	

	� 
� ��	 �����
���
� 
���	 >	#�#�

S210�(@� 
�
 5��
	 

 ��
��	�� �
 S21 

 � ���5�	4 ����	#

2���2 �� 
�����	� 	� # ���	���� �
��
�	�


)�	 �	2 ���5��	��
 �� � 3
�	�	

 ������
���
�� 
2
�	� ��	 ��	 !� ����
�	
�	� ���

��	 ��
	���� 5���	


�� ��
�� 3�
�� ��	 �
����2 
	5����	�2 
�5�	�	��	�# ;�3���2


��	2 ��	 �	��
�� �� �	 
��	����	� 
��� � 

���	 ��
5 �� 
��	 5�3	� ��� ��	�# )�	 !�

����
�	
�	� �	��
 ��	 !� �����$	�� �����
 ��� ����
�
��
�� ��� �	�	
�
�� !� 

����
�

3�
�� ��
��2 ���


� �� ��	 �5$����	�

�� ����� ��� ��	 5�3	� ��5�
7	� ��� )=� ��	

��3�$����	�

�� ����� ��� ��	 ��3$��

	 ��5�
7	� ��� !=� ��� ���	� ��4
�
��2 �
���
�




�. ���$��� +5 ""' �����,�� �#$��#�����	�� ��� �������#����

�
�	 7��	�
� 
		 �
�# ,#*# )�	 ��
	���� 5���	


�� ��
� ��
��2 �	��
�	
 ��	 �
�
���

�������
�� ��� 	����
�� �����
��
 
� )=� ��� ��	 �
�
��� �	�������
�� ��� �	���
��

�����
��
 
� !=# )�	 !� ����
�	
�	� ��� ��	 ��
	���� 5���	


�� ��
� ��	 
��	����	�

3
�� ?0� ����	��	�
 
� != ��� �0? ����	��	�
 
� )=� ��	�	���	 ��	 ����	� 

 ��

������ ���5��	�� 3�
�	 ��	 ����	� 

 ����2 �
�
���# �� M/FN ���
��
 
�������	
 �� �	

��

��	 !� ����
�	
�	� ��� ��	 ��
	���� 5���	


�� ��
� ���	 �		� ����	

	� 
� �	��
�#

�� 
�����2� ��	 !� ����
�	
�	� D (�
	���� ���5��	�� �	��
�	
 ��� ��	 5�2

��� ��2	�

�����
��
 �� � 3
�	�	

 ������
���
�� 
2
�	�# �� ��	 )= 5���	

� 
� �	�
 ��	 �
�
���

�? ��2	� 5���	� ���� ��	 �? ��������	�� �������
����2 ���
 � 5��5	� 5�2

��� ��2	�

�	��	� ���0�� ��
� �� 
�� ��� ��	� ����	��
 
� �� �� !� 

���� ���
��	� 
��� ��	 �
�# ��

��	 != 5���	

� 
� ����	��
 ��	 !� 

���� �	�	��	� ���� ��	 �
� 
��� �� �
�
��� 5���	�

��� �	���	
 
�
 5�2

��� ��2	� �	��	� ���0�� ��
� �������
����2� ��� ��	� ����
�	�
 
�

�����	� �� 
�
 �? ��������	�#

�� ��	 3��� �� MGFN� 

��
7���� �
�	 ��� 	6��� ���	 �		� 
5	�� �� 
�5�	�	�� ���

���
����� ��� �����
 �� !� ����
�	
�	� D ��
	���� 5���	


�� ��� ��	 
3
���	�$�	��

���	��� 
2
�	�# ?
 ��� � �	
�$�	� 
2
�	�� ��	�	 

 �
����2 �� 
5	�
�� �	9�
�	�	�� ��


�
 !� ����
�	
�	� D ��
	���� 5���	


�� ��
� 
� ���� ��	2 �		� ��� �	 
�5�	�	��	�

5���
������2# )�	�	���	� � ��	

 ��	 �	�
�� ��� 
��� �� 
�5�	�	����
�� 

 ���� ��	�	 3�


�� 
��	����	� 

���	 ��
5 ��� !� ����
�	
�	� D ��
	���� 5���	


�� �5	���
�� �� ��	


��	��	� ��	9�	��2 ���� ���
����	 �� ���� �
�	# )����
 �� ��	 �	�	�� 5����	

 �� ��
5


��	����
��� ���2 

���	$��
5 
����
��
 ��� !� ����
�	
�	� D ��
	���� 5���	


�� ��	

����	��
���2 ���
����	 ��3# E��	� ���� ��	 

���	$��
5 
����
��
� ���	���
 �3�$��
5


����
��
 ��	 ��
� ���
����	 �� ��	 ����	�# ��� ��	 ::( �	
�$�	�� ��	 ��

� �	9�
�	�	��


��	 ��	 �����3
��"

*# E5	���
�� 
� ��	 �:� ,#F �8� ��	9�	��2 ����R

,#  ��	�
�� ��	 ���5�	�	 �����
��
 �� !� ����
�	
�	� ��� ��
	���� 5���	


��R

1# :�55���
�� !::� �	�
��	�	��
� ��� 
� 

 ���	 ��������	��
 
� ��	 ��
5 ���

�
�	���2 ���5�� ��	 �
�
��� !::� ����	
R

F# ��3	���� ��� P	4
��	 �	�	��5�	�� ����
 
����� �	 ���
����	� ��� ���� �	���
���


�55��� ���� ��	 ����������	� 

 	
5	�
���2 	45	��	�#

 ���	��
�� ��	 ������ �	9�
�	�	��� � �����	� 	45	����
�� 

 ���� � ��
5 	������
��

����� 
����� �	 ���
����	 �� ���
� ���
�
���� 	6���
 �� �	

��
�� ��	 	4�	���� !� �
�$

��
�
 ������ ��	 ��
5� 	#�#� ��	 �����
�� �
���
�
 ��� ��	 ���	���# E��	� �	9�
�	�	��



�����	 � ����	 �2���
� ����	 �� ��	 !::� �	�
��	�	��� 5����������	 )= 5�3	�

��� 5����������	 �	���� �� ��	 5�	����	� 3�
�� ���
 �
 � 5��� �� ��	 5�2

��� ��2	�

�	��	�#



+5
 ����&��� 	#$��#�����	�� � 

��� %��� ����	���� ��	$ � 
	�	��	� 3�
 �?=,.,, ���� �?=��# )�

 

 � �3�$��
5


����
�� 

��	 �?=,.,, ���2 ���	�
 ��	 !� ����
�	
�	� �����
��
 ��� �	9�
�	
 � ���$

5��
��	 ��
	���� 5���	

��# )�

 
����
�� 

 �
���
���	� �2 ��	 ���� ���� �?=,.,, 

 �

,#F �8� .-,#**� �8C ���5��
��	 ����
�	
�	� 
��	����
�� 5�3	� ��5�
7	� ��� )=0!=


3
���� 

��	 ��� 
��	
�
���	� �? ��2	� 5������� 

 ��
	� �� ��	 ���� .-,#**� 
5	�$


7���
��# 8�3	�	�� �3� �

��������	
 ���	 
� 
��55��5�
��	# �
�
�� 
� ��	
�L� 
�55���

��	 !::� �	�
��	�	�� �
�	���2� 3�
�� ���
	
 �
B����
	
 �� ��	 �5�
��� �	�	5�
�� 
	�$

��� 
	�	��
�� >E!::@ 5���	

� 3�
�	 E!:: 

 ��	 �	2 �5	���
�� �� ::( >�	�	� �� :	��
��

F#1@# )�

 ��� �	 
���	� �2 �55�2
�� ��	 !=Y?� ��� !�Y�?�; 

����
� 3�
�� ��	

��	 ���5�� �� 
�
 ���5��
��	 ��
	���� ��
5 ��� ��	 �
	� �2 �?=,.,, ��� ��	 ����$

���
� ��
� ������� >?� @ 5��5�
	# )�	 
	���� ��� ���	 
	�
��
 �

��������	 

 ����


�
 ���5��
��	 ��
	���� 5���	


�� ��
5� ��;,*,- ���� ����� ��� �� ��	 .-,#**�


	�
	
 ��
	����0�? ��
5 ���� ?��	�� 

 ��� ���
����	 
� 
���� 9����
�2#

��� ������ ����	���� ��	$ � ���	 ����� 3�
 ?)!,F-/ ���� ?��	�� 3�
�� �		�


��	 �	9�
�	�	��
 * �� 1� �������� 
� ���2 ���5��
 �� ������ !::� 

����# :
�
����2� �3�

�

��������	
 ���	 
� 
��55��5�
��	 ��� ��	 ::( �	
�$�	�# �
�
�� 
�
 ������ !::� ���$

5�� �	9�
�	
 �� �
	 �� ���
�
���� ?0� ����	��	�� 3�
�� 
���	�
	
 ��	 ���5�	4
�2 ���

5�3	� ���
��5�
��# )�

 ���3���� 

 ��� ��
�
��� ��� ����� �	 ��	����	 
� ?)!,F-/



 ��	 ��
9�	 ���
�	# ?������2� � ���	 ����� � 5��5	� ?0� ����	��
�� ��
5 �?=***H

���� �?=�� ��� ��

 5��5�
	# 8�3	�	�� ��	 ���	 
	�
��
 5����	� 

 ���� ��	 ����	$

�	��
��	� ������ �	9�
�	�	�� 3�
 ��� �	� �� ��	 �
�	 �� ��	 �	�	��5�	��� ��������

��	 ����������	� ���
�	� ��	 ���
���
�
�2 �� 
�
 �	�	��5�	�� �
�# )�	�	���	� ���	��
��

��
 �� �	 5�
� �� ���	� ���
�	
#

��� %����� �������� ��	$ 

   ,F-- ����  �
5���� 3�
�� �6	�
 ��	 

���	$��
5 
�$

���
�� ���� 5	��	���2 �		�
 ��� ����	 ���� �	9�
�	�	��
# �� ���
�
���   ,F-- 5���
�	


���	� �����
��
 ���� ���	 
� 5���
������2 
�
����	 ��� ��	 ::( �	
�$�	�"

� �� 
�55���
 ��	 ����
	� 
	�
	 > :@ �����
��# �� � ����
	� 

 �	�	��	� 
� ��	 �
��

��	�   ,F-- ���5��
 �� ���
�	 � :Y; �
�
��� 

���� ���
� ��	 ����
	� 

����

�

�55	��
# )�	  : �����
�� 

 ��
	� �� ��	 !::� �	�
��	�	��# �� ��	 �	�
��	�

!::� ����	 

 ����	 ��	 ���	
���� �	�

�	� !::�Y :Y)8!�:MG"-N ����	� 3�
��

��� �	 ���7���	� 
� ������	� ��	� � :Y; �	���	
 ���
�	#

� )�	 �	���� �� 
�
 5�	����	 

 5����������	# )�	 5�	����	 

 �������
����2


�
	��	� ��� �	���	� �2   ,F--� ��� 
�
 �	���� ��� �	 ���7���	� P	4
��2 ����

* �� 1, (2�	
# ?
 3
�� �	 ����2�	� 
� :��
	��
�� G#1#,#1� � 1, (2�	
 5�	����	 



���� 	����� ��� ��	 E!:: 5���	

 	�	� 
� ��	 3��
� ��
	#

� �� 
�55���
 ��	 
2������
���
�� 3��� 
��
����� �����
��# )�	 ��
�
��� 5��5�
	 ��

��

 �����
�� 

 �� 
��	���5� ��	 �

��
��	� �
���5���	

�� �� �	�� ��	 �	�	
�	�



�- ���$��� +5 ""' �����,�� �#$��#�����	�� ��� �������#����

antenna with SMA 
connector, can be 
replaced by the 

SSB module

CC2400EM, daughter 
evaluation module

CC2400 chip

power lines

USB port

CC2400EB, mother 
evaluation board

test port 1, 
connecting to 
RAPTOR2000

test port 2, duplicating 
test port 1, only for 

signal measurements

4	���� +5+� )�	   ,F-- �	�	��5�	�� �
�� ���


�
�� �� ��	   ,F--�� ������	�
����� ��� ��	   ,F--�( ����	� �����#

���� ���� ��	 ���E ��   ,F--# 8�3	�	�� �
 3
�� �	 �	
��
�	� 
� :��
	��
��

G#1#,#/� ��

 �����
�� 

 �
	� �2 ��	 �	
�$�	� �� �

�
���

� �	�3		� ��	 
��	��	�$

	��	 

���� ��� ��	 �
	� 

����# )�	 �	
���
�� 
��	��	�	��	 
�55�	


�� �����
��

�� ��	 �	
�$�	� 3���
 �	�2 3	��� �
 
��
���	� �2 ��	 	45	�
�	��
 �	
��
�	� 
�

:��
	��
�� G#F#F#

� �� 
�55���
 ��	 ����
$�����	� �5	���
��# .F ��	9�	��2 �����	�
 ��	 ���
����	

����
�� ���� ,F-- �� ,F.1 �8�� 	��� 3
�� ��	 * �8� ����3
���# )�	 ,#F �8�

�:� ���� 

 
���	� �2 ���2 �55�
���
��
# 8	��	� 
� 

 ��������	��
 �� �55�2

��	 ��	9�	��2 ��55
�� 
5�	�� 
5	����� >�8::@ �� ��	 ����
$�����	� 
����
�� ��

������ ��$�����	� 
��	��	�	��	# ?������� ��	 ::( �	
�$�	� ��	
�L� �55�2 ��



�����
�� 
�B�
	���2� 
� 
�55�
	
 � ���� �5����
�� �55�����
�2 �� �����	� 
���	�
	

��	 5	��������	 �� ��	 �	
�$�	�# ?�2��3� ��

 �����
�� 	����	
 ��	 �	
�$�	� ��

�5	���	 �� �
6	�	�� ��	9�	��2 �����	�
 3
�� ��� 3
����� 
��	��	�	��	 �� �	
� 
�



��	��	�	��	 
�55�	


�� �����
��� �
 3
�� �	 �	
��
�	� 
� :��
	��
�� G#F#F#

?����	� 5��5	��2 ��   ,F-- �� �	 �
���
���	� 

 
�
 5�3	���� �	�	��5�	�� �
�� 
�����$


�� ����3��	 ��� 
���3��	# �
�# G#G 
���
����	
 
�
 �	�	��5�	�� �
� ���5�
	� �� ��	

����	� 	������
�� �����   ,F--�( ��� ��	 ������	� 	������
�� �����	   ,F--��#

?�� ��	 	4�	���� !� �
���
�
 ������ ��	   ,F-- ��
5 ��	 
��	����	� ��   ,F--���



+5
 ����&��� 	#$��#�����	�� ��

The 6-element
antenna array

PCI-based
RAPTOR2000

SPI cable

Evaluation board 
for RF switch

CC2400 kit

Two control lines 
for the switching 

command

The USB cable only for 
loading the firmware
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monotonic dynamic range

such abnormal points may lead to 
incorrect comparison results
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Internal 
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Interface
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interval packet

48 ms 2 ms

interval packet

48 ms 2 ms

…...…...

PCS_N
in an interference 
free environment

PCS_N
in an environment 
with interference

ORSS would 
incorrectly start here 
due to interference

ORSS should
start here
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Preamble
28 Bytes

Preamble
4 Bytes

Sync
4 Bytes

                            Read
                            FIFO interval

224 µs 32 µs 32 µs 1.8 ms 25 µs  ~ 48 ms  

 over-the-air @ 1 Mbps

over SPI @ 8.33 Mbps

Data
225 Bytes

RXORSS PCS

RSSI
settling

read
RSSI

30 µs 2 µs

RSSI
settling

read
RSSI

30 µs 2 µs

RSSI
settling

read
RSSI

30 µs 2 µs

…...…...

PCS_N

PKT t0 should appear 
within this duration

incorrect t0 appears in this 
duration due to interference

Interval between packets
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I_CLK
I_RESET_N

I_ADR
I_DATA_OUT

I_DATA_IN
I_READY_N

I_VALID_N
I_WR_N

8

32

3

LocalBus_Slave
_Simple

EN_IN_N
ADR

ADR_DECODER

EN1
EN2
EN3

SINIT
CLK

WR_EN
DIN

8

FIFO_SE

RD_EN
DOUT
FULL

EMPTY

SINIT
CLK

RD_EN
DOUT

8

FIFO_RE

WR_EN
DIN

8
FULL

EMPTY

CLK
RESET_N

SEND
D

8

SERIAL_SENDER

BUSY
TX

VOR_LAST_BIT

CLK
EMPTY_S

FIFO_S_CTRL

VOR_LAST_BIT
SEND

CLK
RESET_N

D

SERIAL_RECEIVER

BUSY(not used)
RX

LAST_BIT

WR_EN_R

FIFO_R_CTRL

LAST_BIT

RD_EN_S

CSn

SCLK

SO

SI

BUSY_S

CLK

CLK_OUT
CSn

SPI_RF_CTRL

EN

SEND

RESET_N

RESET_N

RESET_EN
CLK

STATE

STATE_REG

EMPTY_S

CSn

FULL_S

FULL_R

D

MUX

DIN1

SEL1
DIN2

SEL2

32
EMPTY_R

SWCMD

FIFO_FULL

’0’

I_BE_N

EN4

FIFO

SEL SP3T_MUX

DIN1
DIN2

FIFO

FIFO_EMPTY / PCS_N

FIFO_FULL

EN5

 RESET_N                                Q
 CLK
 ENABLE0
 D

DREG_AR_EN_FIFO

EN5

lowest 2

2

DIN3 ’1’

SWCMD1
SWCMD0

RSSI_R

PCS_ORSS

PCS_N

READRSSI
8

SWCMD
2

START

ENABLE1EN4

START
CLK

RESET_N

FIFO_EMPTY / PCS_N

CSn

FIFO_FULL

ORSS

PCS_NS

RSSI_R
READ

D
SWITCH

D0
MUX_1SEL

DIN DOUT

CLK

RESET_N

E
N

B

SEN0

SEN1

RSSI012

RSSI012

24

EM0EM1

PKT
PKTORSS

VOR_LAST_BIT

4	���� �5
� )�5$�	�	� 
��	���
� �
����� �� ��	 ::( 5���	


�� ��
� >:��@#



�5� "���� #���	�� �����	$�	��� 3�� ���� ��#$����� �3 ��� "�1 �� 

��,�� �5
� )�	 :�� 

���� �	
��
5�
�� >�����$��
 

�	 

 ��� 
�����	�@#

:
���� ���	 �
�	��
�� �	
��
5�
��

: I& E��5�� 
	�
�� ���� ����� �	�	���	� �2 ��	 :��� .#11 �8�


 �
	� 
� ��	 ::( �	
�$�	�

 :� E��5�� ��
5 
	�	��
�� 

���� �	�	���	� �2 ��	 :��
:E E��5�� 
	�
�� ���� ���5��� ����	��	� �� ��	 :� 5
� ��

  ,F--
:� ��5�� 
	�
�� ���� 
�5��� ����	��	� �� ��	 :E 5
� ��

  ,F--
� :Y; 0
���EY���)C

��5�� ? �	�	���$5��5�
	 5
�# �� ��� �	 
3
���	� �2 ���$
7���
��   ,F--# � :Y; �	���	
 ���
�	 3�	�
  ,F-- �	�	��
 � ����
	� 
� ��	 �
�R ���EY���)C


 � ���E ���	


�� ������� 

����� 3�
�� �	���	

���
�	 3�	� ���E 

 �	���2 	�5�2� 
		 M+N#

�&) ��5�� :2������
���
�� 3��� 
��
����� 

���� �	�	���	� �2
  ,F--# �� �	���	
 ���
�	 3�	�   ,F-- �	�	��

��	 ���5�	�	 :2�� 3���#

���EY��II ��5��   ,F-- ���E ���	


�� ������� 

����� �	���	
 ��$
�
�	 
� ���E 

 �	���2 ���� >
		 M+N ��� �	��
�@

:' ��M*"-N E��5�� 
3
���
�� ������� �	�	���	� �2 ��	 :�� �� ���$
���� ��	 ���	��� ����2

��� (
�
� ���
��� 	�����)
���� %�� ���
 ���)����


�% 

� (17

&���� �����
���	� 
� �.( ���
	�

�5�5�5� 4�4/G"8

���EY:� 

 �� �� >���	��	����� ���5	��2@ ���	 �	

��	� �2 �

�� ��	 =
�
�4  E!�

�	�	�����# �� 

 � 
2��������
 ���E 3
�� .$�
� 3
��� ��� ,G/$(2�	 �	5�� >��5��
�2@#

)�	 :2��������
 ���E 

 � �
�
�$��$�
�
�$E�� �	���2 9�	�	 3
�� ������� ���
�
 ����

�����	 ��	 �	�� ��� 3�
�	 5�
��	�
 >!�Y�; ��� '!Y�;@ ��� �	�	���	 ��	 
����


P��
 >��II ��� ���)C@# �	��
�
 �� 
2������
���
�� ���E ��� �	 ����� 
� =
�
�4L


3	�

�	# �� ��

 �	

��� ���EY:� 

 �
	� �� ��6	� ��	 ���� �� �	 ����
�	��	� ��

  ,F-- �
� ��	 :��#



��- �$$���	; �5 ""' �������	�� 1�	� ("�1) �#$��#�����	�� ����	��

��,�� �5�� ���EY:Y )!I 

���� �	
��
5�
��#

:
���� ���	 �
�	��
�� �	
��
5�
��

 I& ��5�� 
2��������
 �����
!�:�!Y; ��5�� �	
	� 

����� ��3 ���
�	
���)CY: ��5�� ����	��
 �� ��	 ���)C 5
� �� ���EY:� �� ���$


��� 
�
 
����

!�Y�;Y: E��5�� ����	��
 �� ��	 !�Y�; 5
� �� ���EY:� �� ���$

���� 3�	��	� 
� 

 �	�����	
:�;� E��5�� ������� �� :�!�?IY:�;��! �� 	����	 ��	

����
�



�� �� ��	 �	4� �2�	
���E ��5�� �����	 ���
���
�� 

����
JE!YI?:)Y(�) ��5�� �� �	 
�����	� ���� ��	 �
� �	���	 ��	 ��
� �
� ��

��	 �2�	 

 �	
�� 
	�� �� ��	 :E �
�	

�5�5�5
 4�4/G"G��6�

���EY:Y )!I 

 ��	 ��������
�� �����	 ��� ���EY:�# ��
 ��

� �����
�� 

 ��

�	�	���	 !�Y�; ��� ���EY:�� ��� �	�	���	 :�;� ��� :�!�?IY:�;��! ���

:��Y!�Y )!I �� 
�
�
��	 ��	 ����
�



�� 5���	

� ���	 
� �	�	��
 ���EY:� ��

�	 ���	�5�2# �� ���
�
��� 
� ��
 ��	 �����3
�� �3� �	����	
"

� �	����	 *" �� 
�55���
 ��	 ����	 5���	� ����
�



�� ���   ,F--# )�

 3
�� �	

�����	� 	45��
�	� 
� :��
	��
�� ?#1#,#

� �	����	 ," ��
 ���
���
�� ��� �	 ��������	� �2 ��	 ���E 

����# ���� �
�# ?#1 3	

��� 
		 ���� 
� ���E �		5
 ��3� ��	� ��

 �����	 ��3�2
 
��2
 �� ��	 ��I� 
���	#

)�

 �	����	 

 	
5	�
���2 
�5������ ��� ��	 ����	 5���	� ����
�



�� 
�55��� ��

��	 :��� �
 3
�� �	 �	
��
�	� 
� :��
	��
�� ?#1#,#

�5�5�5� "86���G"8?�86

)�	 ��

� �����
�� �� :�!�?IY:�;��! 

 �� 
	�� ��	 ���� ���� 
�
 � 5��� >.$�
�

3
�	@ �� 
�
 )= 5��� 
	�
���2 3�	� ��	 ���� 

 �	��2 >����
�
�� ��	 ���
�	 :�;� 

�$

��� ���� ���EY:Y )!I@� ��� ���5�� (�:C ��� JE!YI?:)Y(�) ���
�� 
	��$


��# �
�# ?#F ��� �
�# ?#G ��	 ��	 
��	���
� �
����� ��� 
���	 ����

�
�� ���5�

�� :�!�?IY:�;��!� �	
5	��
�	�2# �� ��� �	 ����� ���� ��

 �����	 

 �����	�

���	 �5 ��  E;)!EII�!� :8��)Y!�� ���  E�;)Y(�):#  E;)!EII�! ���$

����
 :8��)Y!�� �� 
	�
���2 
�
�� ��	 �
� �� ��	 ���� �2�	 �� ��	 )= 5���� ���

�������
  E�;)Y(�): �� ����� ��	 ����	� �� �
�
 ����
�
��	� ��� �	�	���	 ��	

JE!YI?:)Y(�) ��� I?:)Y(�) 

����
 ������
���2#



�5� "���� #���	�� �����	$�	��� 3�� ���� ��#$����� �3 ��� "�1 ���

RD_EN_S
EMPTY_S

FIFO_S_CTRL

VOR_LAST_BIT
SEND

CLK

RESET_N

IDLE

EMPTY_S = '0'
& FIFO = '1'

EMPTY_S = '1'
|| FIFO = '0'

COUNTER /= 26
& VOR_LAST_BIT = '1'

& EMPTY_S = '1'

RESET_N = '0'

SENDING

SEND <= '0'
RD_EN_S <= '0'
(default velues)

NEXT_COUNTER
<= COUNTER +1

COUNTER /= 26
& VOR_LAST_BIT = '1'

& EMPTY_S = '0'
ED_EN_S <= ’1’

VOR_LAST_BIT = '0'

ENABLE

RD_EN_S <= '1'
COUNTER <= 0

LOAD

SEND <= '1'

FIFO

COUNTER = 26
& VOR_LAST_BIT = '1'
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RESET_N
CLK

    TX<= 'Q(7)'  RESET_N                    Q
 CLK
 SHIFT
 LOAD
 D                                  

SHIFT_REG

SEND

D

TX

BUSY

Q(7)

WIDTH

                                DATA_PATH

 RESET_N      LAST_BIT
 CLK
 START

                                 

COUNT_BITS

   &

VOR_LAST_BIT

VOR_LAST_BIT

EN_R

CSn FIRST_BIT

 RESET_N             BUSY
 CLK                          
 SEND                   SHIFT
                              LOAD
 LAST_BIT           START

CONTROLLER

4	���� �5!� :��	���
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DATA

SHIFT <= '1'
BUSY <= '1'

START <= '0'
LOAD <= '0'

IDLE

SHIFT <= '0'
BUSY <= '0'

START <= '0'
LOAD <= '0'

SEND='1'
LOAD <= '1'

START <= '1'

SEND='0'

LAST_BIT='0'

LAST_BIT='1'
& SEND='0'

RESET_N='0'

LAST_BIT='1'
& SEND='1'
LOAD <= '1'

START <= '1'
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WR_EN_R

FIFO_R_CTRL

LAST_BIT

CLK

WRITE

WR_EN_R <= '1'

IDLE

WR_EN_R <= '0'

LAST_BIT = '1'

LAST_BIT = '0'

RESET_N = '0'

RESET_N

WAIT_1
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 RESET_N             BUSY
 CLK                          
 ENABLE              SHIFT
 ABORT                 LOAD
 LAST_BIT           START

CONTROLLER

RESET_N
CLK

 RESET_N                    Q
 CLK
 SHIFT
 LOAD
 D                                  

SHIFT_REG

EN
ABORT

D

RX

BUSY

WIDTH

                                DATA_PATH

 RESET_N      LAST_BIT
 CLK
 START

                                 

COUNT_BITS

   &

LAST_BIT
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DATA

SHIFT <= '1'
BUSY <= '1'

START <= '0'
LOAD <= '0'

IDLE

SHIFT <= '0'
BUSY <= '0'

START <= '0'
LOAD <= '0'

ENABLE='1'
START <= '1'
SHIFT <=’1’

ENABLE='0'

LAST_BIT='0'

LAST_BIT='1'
& ENABLE='0'

LOAD<=’1’

RESET_N='0'

LAST_BIT='1'
& ENABLE='1'
LOAD <= '1'

START <= '1'
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DATA

CSn_SIG <= '0'
NEXT_COUNTER

<= 0

IDLE

CSn_SIG <= '1'
NEXT_COUNTER

<= 0

SEND = '1'
CSn_SIG <= ’0’

SEND = '0'

BUSY_S = '0'

 COUNTER = 2
RESET_N = '0'

BUSY_S = '1'

WAIT_3

CSn_SIG <= '0'
NEXT_COUNTER
<= COUNTER +1

BUSY_S

CLK_IN

CLK_OUT

CSn

SPI_RF_CTRL

RESET_N

CLK
RESET_N

BUSY_S CSn
SCLK

COUNTER /= 2

SENDSEND
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RESET_N = '0'

IDLE_1
  

RSSI_R = ’1’
& ORSS = ’1’

RSSI_R = ’0’
& ORSS = ’1’

SENDING

SEND <= '0'

COUNTER /= 2
& VOR_LAST_BIT = '1'

VOR_LAST_BIT = '0'

LOAD

SEND <= '1'
NEXT_COUNTER
<= COUNTER +1

COUNTER = 2 &
VOR_LAST_BIT = '1'

WAIT_1

READ <= ’1’

ORSS

PCS_NS

RSSI_R
READ

D
SWITCH

D0
MUX_1SEL

DIN DOUT

CLK

RESET_N

SEN0

SEN1

EM0EM1 8

8

8

VOR_LAST_BIT

IDLE

Normal operation for 
strobe command and 

FIFO access 

ORSS = ’0’

ORSS = ’1’

IS_AUX
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SW_CMD0

SW_CMD1

WAIT_30us

NEXT_COUNTER
<= COUNTER +1

other conditions

RESET_N = '0'

PCS_N

SWCMD_1

 
NEXT_COUNTER 

<= 0

FLAG = 0 &
COUNTER = 250

& PCS_N = ’1'

FLAG = 0 &
PCS_N = ’0'

CHECK_30us

NEXT_CON
<= CON +1

PCS_N = ’1'

PCS_N = ’0’ &
CON /= 250

PCS_N = ’0' &
CON = 250’

RSSI_READ

RSSI_R <= ’1’
NEXT_COUNTER 

<= 0

READRSSI
8

WAIT_3
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WRITE_REG
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PKT not appears
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PKT

NS
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PCS_N = ’0’ &
PKT appears

within time
limitation
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RSSI012
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1st ORSS process is initiated 
by the first long interference

2nd ORSS process is initiated 
by the second long interference
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9 ORSS processes are 
initiated by interference

the user signal 
appears here

The last ORSS process is 
performed on the user signal
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The ORSS process 
performed on the user signal

The sensed signal is recognized 
as interference since no active 

PKT appears in time

The sensed signal is recognized as 
interference since active PCS_N 

disappears
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XRF(f) =
1

2
[Xi(f − fRF) + Xi(f + fRF)] − 1

2j
[Xq(f − fRF) − Xq(f + fRF)]. >(#,@
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XIF,I(f) · e−j2πfτ = [1
2
Xi(f + fIF) + 1

2j
Xq(f + fIF)] · e−j2πfτ · ej2π(fRF−fIF)τ

+ [1
2
Xi(f − fIF) − 1
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Xq(f − fIF)] · e−j2πfτ · e−j2π(fRF−fIF)τ .
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xIF,I(t − τ) = xi(t− τ) · cos[2π(fIFt− fRFτ)] − xq(t − τ) · sin[2π(fIFt− fRFτ)]. >(#F@
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XIF,Q(f) · e−j2πfτ = j[1
2
Xi(f − fIF) − 1

2j
Xq(f − fIF)] · e−j2πfτ · e−j2π(fRF−fIF)τ

− j[1
2
Xi(f + fIF) + 1
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Xq(f − fIF)] · ej2πfτ · e−j2π(fRF+fIF)τ .
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xIF,Q(t− τ) = −xi(t− τ) · sin[2π(fIFt− fRFτ)]−xq(t− τ) · cos[2π(fIFt− fRFτ)]. >(#/@
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xRF,analy(t) = xRF(t) + jx̂RF(t), >(#H@
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XRF,analy(f) = 2U(f) · XRF(f), >(#.@
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XRF,analy(f) = Xi(f − fRF) + jXq(f − fRF). >(#+@

?��	� 5	�����
�� ��	 
��	�
	 ����
	� ����
����� 3	 ��� ����
� �����	� 	45�	


�� ��

��	 ����2�
� !� 

����

xRF,analy(t) = [xi(t) + jxq(t)] · ej2πfRFt. >(#*-@
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xIF,analy(t − τ) = xRF,analy(t − τ) · e−j2π(fRF−fIF)t

= [xi(t − τ) + jxq(t − τ)] · ej2π(fIFt−fRFτ).
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xIF,I(t− τ) = xi(t− τ) · cos[2π(fIFt− fRFτ)]− xq(t− τ) · sin[2π(fIFt− fRFτ)], >(#*,@
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xIF,Q(t− τ) = xi(t− τ) · sin[2π(fIFt− fRFτ)] + xq(t− τ) · cos[2π(fIFt− fRFτ)]. >(#*1@
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xBB(t − τ) = [xi(t − τ) + jxq(t − τ)]e−j2πfRFτ . >(#*F@

?
 ��� ��	 �
�	�� ����	�

�� ���� !� �� ��
	����� A�
� ���

�	� ��	 ����	 ��3�$

����	�

��
 ���� ��	 �$�����	� �� 

���� �� ��	 �0K ��
	���� 

����
 ��� 
��
�
���	

��	 !� 

���� xRF(t) ��� ��	 �$�����	� �� 

���� xIF,I(t)#

/�& .�����	��' �������

(�
	� �� ��	 ����	 �	�
���
��
� ��
��2 �� �9
# >(#F@� >(#/@ ��� >(#**@� 3	 ��� 
		

���� 
� ��	 ����
	 �� ��	 ��3�$����	�

�� ���� !� �� ��� ��	 �
�	 �	��2 τ 	45	�
	��	�

�2 ��	 !� 

���� xRF(t) 

 �	5� �� ��	 ��
	���� ���5��	��
 xi(t) ��� xq(t)� ��� 




���	�
	� �� fRF

fIF
τ ��� ��	 �� ����
	� 

����R ��� ��	 5��
	 
�
�� −2πfRFτ 

 �	5� �� ��	

�� ����
	� 

����#

?
 ��� ��	 ��3�$����	�

�� ���� �� �� ��
	����� �� �
�	���2 ���� !� �� ��
	�����

�55�2
�� �9# >(#**@ ��� ��	��
�� 
�
 fIF �
 - �� ����
� [xi(t−τ)+jxq(t−τ)] ·e−j2πfRFτ �

3	 ��� 7�� ���� ��	 �
�	 �	��2 τ 

 �	5� �� ��	 ��
	���� ����2�
� 

����� ��� ��	

5��
	 
�
�� −2πfRFτ 
�
�� ���
	
 �� 
�5��� 3
�� ��	 ������ e−j2πfRFτ #



?55	��
4  

���� �* �%%��)�������

?� ?���2 ������
?�� ?����� �� ���
��
?� ?������
� ��
�  ������
?�8? ?4
�� ���	 8	�
��� ?��	���
?;I ?3��	 ;	
�����
 I

�
?� ?��	

 ��
��
?: ?���	 :5�	��
?:� ?55�
���
�� :5	�
7� ���	����	�  
���
�
(�! (
� ����� !��	
(� (	������
��
(�$�? (	������
�� �? 
(I?:) (	�� I��������
	
 I�2	�	� :5��	$�
�	
(�� (���5�

 �
��	�
(: (�
	 :���
��
 ��?  ��	 �
�


�� ����
5�	 ?��	


  �  �$�����	� ���	��	�	��	
 !  2��
� !	�������2  �	��
 :�  ����	� :���	 ��������
��
 :�?0 ?  ���
	� :	�
	 ����
5�	 ?��	

 3
��  ���


�� ?��
����	
 :�  �
5 :	�	��
�� �	���
�	 ���
�
 ):  �	��$)�$:	��
 '  ���	��
�� '
���3
� � �

��
���	�  ����
���
�� �����
��
���: � � ���	�����	 :5��	
�
�$�? �
�	��
���� �? 
�E? �
�	��
�� �� ?��
���
�� �9��� ��
�  ���
�
��
�:�!�) �
�
���
�� �� :
���� �����	�	�
 �
� !����
���� �����
���	 )	���
9�	

��� ��	9�	��2 �
�


�� ��5�	4
���? ��	9�	��2 �
�


�� ����
5�	 ?��	


�8:: ��	9�	��2 8�55
�� :5�	�� :5	�����
���E �
�
�$�� �
�
�$E��
���? �
�	� �����������	 ���	 ?���2



� ! �$$���	; �5 �	�� �3 �,,��2	��	���

��? 
 �
�� ����
5�2$?��������	
 5	� 
	����
�: �	�	���
�	� �
�	�

�2 :	�	��
��  ���
�
��
8�(' 8��� ��3	� (	�� '
���
8$:0�! 82��
� :	�	��
��0��4
��� !��
�  ���
�
��
�� ���	��	�
��	 ��	9�	��2
�� ���	��	����� ���5	��2
�: ���	��	�	��	 :5��	


��
I?; I���� ?�	� ;	�3���
I�: I	�
� �	�� :9���	
IE: I
�	$��$:
���
I�� I�3$5�

 �
��	�
I:( I	�
� :
��
7���� (
�
�? �	�
�� ?��	

  ������
�?;�)
 ���
�	 ?� 8�� ;	�3���

��?$�? ����
$�
�	��
����$���	��� �? 
���E ����
$��5�� ����
$E��5��
��:E ����
$��5�� :
���	$E��5��
��? 
 �
��
�� ����
5�2$?��������	
 5	� 
	����
�! ��4
��� !��
�  ���
�
��
�: ���
�	 :���
��
�:( ��
� :
��
7���� (
�
��:� ����
5�	 :
����  ��


7���
��
�J�! �
�
��� J��
���	 �

����
���	

 !	
5��
	
;?J ;	�3��� ?������
�� J	����
;�8? ;����� ���	 8	�
��� ?��	���
E��� E��������� ��	9�	��2 �
�


�� ����
5�	4
��
E���? E��������� ��	9�	��2 �
�


�� ����
5�	 ?��	


E!: E5�
��� !	�	5�
�� :	����
E!:: E5�
��� !	�	5�
�� :	���� :	�	��
��
E): E5�
��� )���
�



�� :	����
� !��
��
�� ��3	�  ������
��! ����	� �	�
�	�2 !��
�
� � ��
��  ����
���
�� �����
��
� � �	�
����  ��5��	� ���	����	
� : ��2

���  ���
	� :	�
	
��? �	�
���� �
�
��� ?



����
�� )���
�	
�	� ��3	� �����	�	��
!� !��
� ��	9�	��2
!�: !��� �	�� :9���	
!::� !	�	
�	� :
���� :��	���� ���
�����
!): !	9�	
�$)�$:	��
!= !	�	
�	
:? :���� ?��	���




� +

:?8;� :
�����
�� �� �� ?� 8�� ;	�3���
�� ���
����	��
: I& :2������
�	�  ����
:� :5��	 �
�	�

�2
:�$�? :5��	 �
�	�

�2 �? 
:��? :5��	 �
�


�� ����
5�	 ?��	


:� :	�
�� ��5��
:��: :���� ���	�����	 :5��	
:��E :
���	$��5�� ����
5�	$E��5��
:�! :
���� �� ���	��	�	��	 ��3	� !��
�
:� :5��
�� ����
5�	4
��
:�? :���
�
����	 �	�

�� ?
:;�! :
���� �� ;�

	 ���
 ���	��	�	��	 ��3	� !��
�
:;E� :
����$;��$��$���	�	
�
:;! :
���� �� ;�

	 ��3	� !��
�
:E :	�
�� E��5��
:E� :
����$��$���	�	
�
:�� :	�
�� �	�
5�	��� ���	����	
:�� ::( ����	


�� ��
�
:: :5��
�� :
������	
::( :
�5�
7	� :3
���	� (	��
:) :5��	 )
�	  ��
��
:)( :5��	 )
�	 (����  ��
��
:)) :5��	 )
�	 )�	��

  ��
��
:J� :
������ J���	 �	���5�

�
��
:' �� :3
���
��  ������
)��? )
�	 �
�


�� ����
5�	 ?��	


)= )���
�
�
�I? ��
���� I
�	�� ?���2
�I: �55	�$��2	� :���3��	
J : J
�����  ���
	� :	�
	
J�? J��
���	 ��
� ?�5�
7	�
��): ��
�	�
�� ���
�	 )	�	������
���
��
 :2
�	�
J8�I J	�2 8
�� :5		� ���	����	�  
���
� 8���3��	 �	
��
5�
�� I������	
'$ ��? '
�	����  ��	 �
�


�� ����
5�	 ?��	


'I?; '
�	�	

 I���� ?�	� ;	�3���
':: '
�	 :	�
	 :���
����2





?55	��
4 �

���� �* ���%���

ηB 
5	�����$	B�
	��2 ���� ��	 	��
�	 �	�3��� 5	�
5	��
�	
ηE 	�	��2$	B�
	��2 ���� ��	 	��
�	 �	�3��� 5	�
5	��
�	
λ ����
	� 3��	�	����
θ 	�	���
�� ����	 �� ��	 
5�	�
��� �����
���	

φ ��
���� ����	 �� ��	 
5�	�
��� �����
���	

U(θ,φ) ���
��
�� 
��	�

�2 �� ��	 �
�	��
�� (θ,φ)
U0 ��	���	 ���
��
�� 
��	�

�2 ��	� ��	 	��
�	 
��
� ����	

Umax ��4
��� ���
��
�� 
��	�

�2
D �
�	��
�
�2 �� �� ���	��� �� �� ���	��� ����2
G ��
� �� �� ���	��� �� �� ���	��� ����2� �� ��	 ����	� �� ���B� �	�	�����

Gt ����
�
��
�� ���	��� ��
�
Gr �	�	
�
�� ���	��� ��
�
η ���
��
�� 	B�
	��2 �� �� ���	��� 	�	�	��
xRF(t) ���
� ��	9�	��2 >!�@ 

����
xIF(t) 
��	��	�
��	 ��	9�	��2 >��@ 

����
xIF,I(t) 
�$5��
	 �����	� �� 

����
xIF,Q(t) 9��������	 �����	� �� 

����
xi(t) 
�$5��
	 �����	� ��
	���� 

����
xq(t) 9��������	 �����	� ��
	���� 

����
fRF ���
� ��	9�	��2
fIF 
��	��	�
��	 ��	9�	��2
a(φ0) ����2 �	
5��
	 �	���� �� ��	 

���� 
�5
��
�� ���� ��	 �
�	��
�� φ0

w 3	
���
�� ��	B�
	��
 �	����
AF(φ,φ0) ����2 ������ �� ��	 ���
������ 5���	 3
�� ��	 5	�� �
�	��
�� φ0

a1 
5��
�� 

������	 �

��
��	� 3
�� ��	 

���� s1(t)
Rxx 
5��
�� ����	���
�� ����
4 �� ��	 ����2 

���� �	���� x
Rx 
��5�	 �����
���	 ����
4 �� ��	 ���� ����
4 X
γn ����� �	�� 

���� �� ��

	 5�3	� ���
� >:;!@ �� ��	 n$�� ������
Γ ������ �	�� :;!
γSD ���5�� :;! �� ��	 
	�	��
�� �
�	�

�2 >:�@ 
��	�	
γMRC ���5�� :;! �� ��	 ��4
��� ���
� ����
�
�� >�! @ �
�	�

�2 
��	�	
γEGC ���5�� :;! �� ��	 	9��� ��
� ����
�
�� >�� @�
�	�

�2 
��	�	
γGSC ���5�� :;! �� ��	 �	�	���
�	� �
�	�

�2 
	�	��
�� ����
�
�� >�: @ 
��	�	



� - �$$���	; �5 �	�� �3 "�#,���

Pt ����
�



�� >���
��
��@ 5�3	� �� ��	 

����
Pr �	�	
�	� 

���� 5�3	�
Pt,in ����
�



�� 5�3	� �� ��	 ��
� �	�	
�	� 5���	� >	4�����	� ���� 
�
 �	��	�@
Pr,in �	�
��	� �	�	5�
�� 5�3	� �� ��	 ��
� �	�	
�	� 5���	�
secin 
	���� ���� ����
�
��	� ��	 ��
� 5���	�
Pt,out ����
�



�� 5�3	� �� ��	 ����	�� 5���	�
secout 
	���� ���� ����
�
�
 ��	 ����	�� 5���	�
LP 5��� ��


Lnom,in ���
��� 5��� ��

 �� ��	 
����
�� 

���� �� ��	 �	�	
�	�
Lnom,out ���
��� 5��� ��

 �� ��	 �����
�� 

���� ���� ��	 
	��	�
Pt,opt �5�
��� ����
�



�� 5�3	�
ERX ���������	� 	�	��2 ��� �	�	
�
�� ��� 5���	�
ETX ���������	� 	�	��2 ��� ����
�
��
�� ��� 5���	�
ESX ���������	� 	�	��2 ��� 
	�

�� ��	 �	�
��
EDX ���������	� 	�	��2 ��� ��
���	

��� �	�	5�
��
 >�

����
�� 5���	�
@
ERF ���������	� ���
��
�� 	�	��2 ��� 
	��
�� 5���	�
 �� ��2 �25	
S �	�3��� �������5��
DE2E ���������	� �
�	 ��	 ���� 5���	� ���	 �		� 
� �	�
�	�2
PDR 5���	� �	�
�	�2 ���
�
PSX 5�3	� ���
��5�
�� ��� 
	�

��
PRX 5�3	� ���
��5�
�� ��� �	�	5�
��
PTX 
���
� 5�3	� ���
��5�
�� ��� ����
�



�� >	4����
�� ��	 5�3	� ��5�
7	�@
PPA(Pt) 5�3	� ���
��5�
�� �� ��	 5�3	� ��5�
7	� 
� �	5	��	�� �� Pt

K ����	� �� 
	����
 �� � ���	
tslot �
�	 
��� �����
��
pdata ���� 5���	� 

�	
TND �	
��������� �

���	�2 5	�
��
Tn �	
����� �	�	�	 �
�	$���
∆tND �	
��������� �

���	�2 A
��	�
pRTS !):0 ): ���	
����
Ta �3��	 �
�	
Td 
�		5 �
�	
#awake �3��	 5	�
��
Ps 
	�

�� ���	
����
Pr �	�	
�
�� ���	
����
tIFS 
��	�����	 
5��
��
TTR ���
�
�� 5	�
��
Tsw �	
5��
	 �
�	 �� ��	 !� 
3
���
TRSSI !::� �

	 �
�	
Tad ?0� ����	�

�� ��� ���� ��9�


�
�� �
�	
Tcomp ���5��

�� �
�	 �� ��	 A���
�� ��
�
∆t ����
� �
�	
τc �����	� ���	�	��	 �
�	
fd ��4
��� ��55�	� ��	9�	��2
σL/N,GSC ������
�	� 
������� �	�
��
�� �� ��	 ���5�� :;! �� ��	 ) ��� �� � �: 
��	�	



���� �* +��	���

*#* I���� ��	� �	�3��� �
 �� 	4��5�	 �� ����
�
���� �	�����
�	� �	�3���
# *

*#, !���� ������
���
�� �	�3��� �
 �� 	4��5�	 �� ���
�	 �� ��� �	�3���


>�?;�)
@# # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # ,

*#1 �?;�)
 �����
����$��2	�	� ���	�# # # # # # # # # # # # # # # # # # # # G

,#* )�	 ����� �
����� �� � 

���	 ���	��� �
�
��� ������
���
�� ��
�� ���

�� 	4	�5���2 �	�	���2�	 !� ����
�	
�	� M*GN 

 �����	� 
���
����	�# # # *-

,#, :5�	�
��� �����
���	
 ��� � 5�
�� 
����	 �� ���
��
�� 
� ��		 
5��	# # # # **

,#1 )�	 ������
�	� ���
��
�� 
��	�

�2 5���	�� �� � ���� 3��	�	���� �
5��	

���	���# # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # *,

,#F ��
��
5�	 �� �� N$	�	�	�� 
���� ���	���
 
2
�	� 3
�� � ��
���� �
�	��

����2 >�I?@ ���7�����
�� ��� �� 	4	�5���2 ���
��
�� 
��	�

�2 5���	��

>�� ��	 ���
������ 5���	@ ��� ��	 
��
�	�� 

���� ���� ��	 �
�	��
�� ��

60o� 3�	� N 	9���
 / ��� d 	9���
 ��	 ���� 3��	�	����# # # # # # # # # *F

,#G ? ����$	�	�	�� (���	� ����
4 74	� �	������
�� 
2
�	� ��� 
�
 ���
�$

�
�� 
��	�

�2 5���	�� >3
�� ��	 ���� 3��	�	���� ���	��� 
5��	@ MF+N# # *+

,#/ ���	��5	 ����	���
�� �	�
�
 
5��
�� 
� ��	  ����	L
 
�	���
� M*1� 1*N# # # ,H

,#H �
�	�

�2 ��
�
 �� �
6	�	�� �	����
 >��� ::( �	�	� �� :��
	��
�� G#F#F#,@# ,+

,#. �9�
���	�� 	����	� 
�������	 ��� ��	 ����$
���	 K�:& 
5��	$�
�	 ��	��



���	 3
�� �3� ����
�
� ���	���
# # # # # # # # # # # # # # # # # # # # # # 1,

1#* ?� 	4	�5���2 �����	� ���	

 �5	���
�� ��  :�?0 ?# # # # # # # # # # F*

1#, ?� 	4	�5���2 
�	���
� 	45��
�
�� ��	 �
��	� ��� 	45�
	� ���	 5���$

�	�
 >��	 �	� ��� ���	 �
���	
 �	5�	
	�� ��	 ���	���	 �� ��	 
����	 ���

��	 �	
�
���
��� �	
5	��
�	�2# )�	 
��	 ��� �
�# 1#F@# # # # # # # # # # # # F*

1#1 ? 
����
�� �� 
���	 ��	 	45�
	� ���	 5����	�# # # # # # # # # # # # # # # F,

1#F :5��	 �	�
	 ������ ��� �	 
���	�
	� �2 �

�� �
�	��	� ���
��
�� 5���	��


�  :�?0 ?# # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # F1



�-: ��"� /4 4�<168"

1#G )�	 5��5�
	� �? 5������� 
� MHN# # # # # # # # # # # # # # # # # # # # # F.

1#/ )��		 �25	
 �� �4
�� ���	 �	�
��� ���	��� ���
��
�� 7	�� 5���	��
 >���$

���
�	�@# # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # G,

1#H ?4
�� ���	 �	�
��� ���	��� >?�8?@ MF,N# # # # # # # # # # # # # # # # # G1

1#. )�	 5��5�
	� 	
���$
	���� ������
���
�� 
2
�	� 
�������	# )�	 ���$

�
5���	

�� ��
 � ����	� �� �����

��� ������
 >��
@ ���� 	4�����	

�	

��	
 �
� 

���� ����
 >:(
@# "��
���� ����
 >��
@ ����	�� ��	 �
�

����
�	
�	�
# # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # GF

1#+ �
	��
 ���� �		� �� �	 ���	� �� ��	 �? �	��	�# # # # # # # # # # # # # /,

1#*- ��
�� ��
	������
 �� ��� ��
�� �������� �
 ����
��
�� �� ��� ������ ��������


��
�� ��� � # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # /F

1#** ?� 	4��5�	 ���� 
��3
 ��3 ������� ��� ���� 5���	�
 ��	 	4�����	� 
�

5�3	� �����	�	�� 

 �55�
	�# # # # # # # # # # # # # # # # # # # # # # # # /G

1#*, �4	�5���2 �������5��� 	��$��$	�� �	��2 ��� ����� ���
��	� 	�	��2 >N =

35� G = 10@ �	�
�
 

�����
�� �
�	# # # # # # # # # # # # # # # # # # # # # H-

1#*1 �4	�5���2 ����� 	�	��2 ���
��5�
�� >N = 20�G = 1@ �	�
�
 

�����
��

�
�	# # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # H-

1#*F �4	�5���2 	�	��2 �

��
���
�� >N = 35� G = 10@# # # # # # # # # # # # # H*

F#* )3�$���	��� ���� 3��	�	���� 
5��	 ?�
 
� ��	 ���
������ 5���	" �����$



�	 ��
	 >
��
� �
�	@� 	��$7�	 ��
	 >��
�	�@ MF,N# # # # # # # # # # # # # HG

F#, 1$� ?�
 �� ��	 �3�$���	��� ���� 3��	�	���� 
5��	 ����2" �����

�	 ��
	

>�	��@ ��� 	��$7�	 ��
	 >�
���@# # # # # # # # # # # # # # # # # # # # # # # H/

F#1 1$� ������
�	� ���
��
�� 5���	�� �� ��	 ���� 3��	�	���� �
5��	 >�	��@�

��� ��	 ��	���� ���
��
�� 
��	�

�2 5���	�� �� ��	 �����

�	 ��
	 ����2

3�	� �
5��	 

 �
	� �
 
�
 ���	��� 	�	�	�� >�
���@# # # # # # # # # # # # H/

F#F )�	 
��	�

�2 ���
��
�� 5���	�� �� ��	 

�5�
7	� 
3
���	� �	�� >::(@


��	�	 
� ��	 ���
������ 5���	 >3
�� �( 
���	@# # # # # # # # # # # # # # H.

F#G :
�5�
7	� :3
���	� (	�� >::(@ :��	�	 # # # # # # # # # # # # # # # # # H+

F#/ )�	 5��5�
	� ::($�? 5�������# # # # # # # # # # # # # # # # # # # # # .*

F#H )�	 �	�	��� 
�������	 �� ��	 ::( :��	�	# # # # # # # # # # # # # # # # # .1

F#. )������5�� �� ��	 �
�� �	�

�2 
�	���
� >n = 50, w = h = 443�@ >�	��@

��� ��	 ��	���	 �	�

�2 
�	���
� >n = 50, W = h = 1000�@ >�
���@� ���

�	�
�
 

�����
�� �
�	# # # # # # # # # # # # # # # # # # # # # # # # # # # .H



��"� /4 4�<168" �-�

G#* )�	 �	�	��5�	�� ����	 ��� ::(# # # # # # # # # # # # # # # # # # # # # # # +*

G#, )�	 	������
�� ����� �� ��	 !� 
3
��� ?:,-F$.- # # # # # # # # # # # # +1

G#1 )�	 	������
�� ����� �� ��	 !� ����
�	� D �
�
�	� F?*1-G # # # # # # +F

G#F :$5����	�	�
 �� �� !� ����	# # # # # # # # # # # # # # # # # # # # # # # # +F

G#G )�	   ,F-- �	�	��5�	�� �
�� ���


�
�� �� ��	   ,F--�� ������	�

����� ��� ��	   ,F--�( ����	� �����# # # # # # # # # # # # # # # # # +.

G#/ )�	 �	�	��5	� ::( �	
�$�	�# # # # # # # # # # # # # # # # # # # # # # # # ++

G#H )25
��� !::� ����	
 �
# 
�5�� 5�3	� M+N# # # # # # # # # # # # # # # # # # *--

G#. )�	 �
����� �� ��	 �55	�$��2	� 
���3��	 >�I:@# # # # # # # # # # # # # # *-G

G#+ ::( 5���	


�� ��
� >� J8�I �	

�� ���
 �� !?�)E!,---@ # # # # # *-/

G#*- )�	 ��	���� 
���	 ����

�
��
 �� ��	 :��# # # # # # # # # # # # # # # # # # *-H

G#** )�	 � : 
���	 ����
�	 �� ��	 :�� # # # # # # # # # # # # # # # # # # # # *-.

G#*, ���� 5���	� ������ # # # # # # # # # # # # # # # # # # # # # # # # # # # # *-+

G#*1 ��	����	 �
	� ��� E!:: # # # # # # # # # # # # # # # # # # # # # # # # # ***

G#*F � :Y; 

���� 
� ��	 	��
����	�� 3
�� ��� 3
����� 
��	��	�	��	# # # # **1

G#*G ���	��	�	��	 
�55�	


�� �	�
��	 �
	� 
� ��	 �	
�$�	�# # # # # # # # # # **F

G#*/ ������ �	�
��	�	�� 
�	���
�# # # # # # # # # # # # # # # # # # # # # # # # **/

G#*H :
���	 ���	��� != 3
�� ���
�� )= 
���
�� @ ,F-* �8� >�25	 *� ��� ,@#*,1

G#*. ::( != 3
�� ���
�� )= 
���
�� @ ,F-* �8� >�25	 ,� ��� F @# # # # # *,1

G#*+ :
���	 ���	��� != 3
�� ���
�� )= 
���
�� @ ,F11 �8� >�25	 1� ��� F@#*,F

G#,- ::( != 3
�� ���
�� )= 
���
�� @ ,F11 �8� >�25	 F� ��� . @# # # # # *,F

G#,* :
���	 ���	��� != 3
�� 74	� 
����	�
 @ ,F-* �8� >�25	 G@# # # # # # # *,/

G#,, ::( != 3
�� 74	� 
����	�
 @ ,F-* �8� >�25	 /@# # # # # # # # # # # # # *,/

G#,1 :
���	 ���	��� != 3
�� ���
�� 
����	�
 @ ,F-* �8� >�25	 H@# # # # # # *,H

G#,F ::( != 3
�� ���
�� 
����	�
 @ ,F-* �8� >�25	 .@# # # # # # # # # # # *,H

?#* :�� �
�
�� �
����� M+N# # # # # # # # # # # # # # # # # # # # # # # # # # # *1F

?#, )�5$�	�	� 
��	���
� �
����� �� ��	 ::( 5���	


�� ��
� >:��@# # # # # *1/

?#1 :���	 ����

�
�� ���5� �� ���EY:Y )!I# # # # # # # # # # # # # # # # # *1+

?#F :��	���
� �
����� �� :�!�?IY:�;��!# # # # # # # # # # # # # # # # # *F-

?#G :���	 ����

�
�� ���5� �� :�!�?IY:�;��!# # # # # # # # # # # # # # # *F-



�-
 ��"� /4 4�<168"

?#/ :���	 ����

�
�� ���5� �� ���EY!Y )!I# # # # # # # # # # # # # # # # # *F*

?#H :��	���
� �
����� �� :�!�?IY!� ��J�!# # # # # # # # # # # # # # # *F,

?#. :���	 ����

�
�� ���5� �� :�!�?IY!� ��J�!# # # # # # # # # # # # # # *F,

?#+ :���	 ����

�
�� ���5� �� :��Y!�Y )!I# # # # # # # # # # # # # # # # # *FF

?#*- (���� �
����� ��� 
���	 ����

�
�� ���5� �� �:Y?�=# # # # # # # # # # *F.

?#** (���� �
����� ��� 
���	 ����

�
�� ���5� �� � :YE!::# # # # # # # # # *G1

?#*, )�	 ��	���� ������
���
�� �	���
�� �	�3		�   ,F-- ��� ��	 :��# # # *G+

?#*1 )�	 ������
���
�� �	��
�
 ��� ��	 != 5���	

# # # # # # # # # # # # # # */-

?#*F )�	 ������
���
�� �	��
�
 �� ��	 �	�� �� ��	 != 5���	

# # # # # # # # */*

?#*G )�	 �	���
�� �	�3		�  :� ��� ���EY��II# # # # # # # # # # # # # # # # */,

?#*/ )�	 �	���
�� �	��
� �	�3		�  :� ��� ���EY��II# # # # # # # # # # # # */,

?#*H E�	 :�� �2��	# # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # */1

?#*. )�	 �	��
� ��� ��	 7�
� ���� 5���	

 �� ��	 :�� �2��	# # # # # # # # # # # # */F

?#*+ )�	 �	���
��
 ����� ��	  :�� ���EY��II ��� ���E 5
�
 ��   ,F--# */F

?#,- )�	 �	���
��
 ����� ��	  :�� ���EY��II ��� ���E 5
�
 ��   ,F--# */G

?#,* )�	 �	���
��
 ����� ��	  :�� ���EY��II ��� ���E 5
�
 ��   ,F--# *//

?#,, )3� E!:: 5���	

	
 ��	 
�
�
��	� �2 
��	��	�	��	# # # # # # # # # # # # # */H

?#,1 ?� 	4	�5���2 != 5���	

 
� ��	 	��
����	�� 3
�� 
��	��	�	��	# # # # # */H

?#,F ���	 �	��
�
 �� ��	 	4	�5���2 != 5���	

 
� ��	 	��
����	�� 3
��


��	��	�	��	# # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # */.



���� �* ��%���

,#* )�	 5��
	 
�
�� �� 	��� ����	 �	�3		� ��	 ���� ���	��� 	�	�	��
 ���

��	 ���� 5���
 �� ��	 �	������
�� 
2
�	� 
� �
�# ,#G MF+N# # # # # # # # # *+

,#, ?������
 ����
�
� �
�	�

�2 
��	�	 M*N# # # # # # # # # # # # # # # # # # # 1*

1#* )�	 5�2

��� 5����	�	�
 �� ��	 ���		 �
	� ?�8?
# # # # # # # # # # # # G1

1#, �
	� 5	��������	 �	�
��	
# # # # # # # # # # # # # # # # # # # # # # # # # /.

1#1 �����	�	� 
	��
��
# # # # # # # # # # # # # # # # # # # # # # # # # # # # # # /+

1#F !	
����	$	B�
	��2 ���5��

��# # # # # # # # # # # # # # # # # # # # # # # H,

F#* :
�����	� 
�	���
�
# # # # # # # # # # # # # # # # # # # # # # # # # # # # # ./

F#, �����	�	� 
	��
��
# # # # # # # # # # # # # # # # # # # # # # # # # # # # # # ./

F#1 !	
����	$	B�
	��2 ���5��

��# # # # # # # # # # # # # # # # # # # # # # # ..

G#* �	�
��	� :$5����	�	�
 �� ,#1+,F �8�# # # # # # # # # # # # # # # # # # # +G

G#, �	�
��	� :$5����	�	�
 �� ,#FF,1 �8�# # # # # # # # # # # # # # # # # # # +G

G#1 �45	�
�	�� * �� ��	 !::� �	�
��	�	�� >G ���
� 
� 	��� ��� ��	 J�?Y�?�;



 ���
����� 
		 )��# G#F �	��@� ?� 

 �

���	�# # # # # # # # # # # # # # *-1

G#F I	��" )�	 J�?Y�?�; 
	��
�� �� 	45	�
�	�� *R !
���" �45	�
�	�� ,

�� ��	 !::� �	�
��	�	��� ?� 

 	����	�# # # # # # # # # # # # # # # # # *-1

G#G �	�
�	 ��
�
���
�� 
�����2 �� ���?# # # # # # # # # # # # # # # # # # # **G

G#/ �45	�
�	�� ���7�����
��
 # # # # # # # # # # # # # # # # # # # # # # # # # **+

G#H :
���	 ���	��� != 3
�� ���
�� )= 
���
�� @ ,F-* �8� >�25	 *@# # # # *,G

G#. ::( != 3
�� ���
�� )= 
���
�� @ ,F-* �8� >�25	 ,@# # # # # # # # # *,G

G#+ :
���	 ���	��� != 3
�� ���
�� )= 
���
�� @ ,F11 �8� >�25	 1@# # # # *,G

G#*- ::( != 3
�� ���
�� )= 
���
�� @ ,F11 �8� >�25	 F@# # # # # # # # # *,G

G#** E�	���� ��	���	 �	�
��	
 �� 	
���$��� 	45	�
�	��
 >�	�	� �� )��# G#/ ���

��	 �25	 ����	�@# # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # *,G



�-! ��"� /4 ��'�8"

?#*  ��5��	��
 ����	
5���	��	# # # # # # # # # # # # # # # # # # # # # # # # *1G

?#, )�	 :�� 

���� �	
��
5�
�� >�����$��
 

�	 

 ��� 
�����	�@# # # # # # # *1H

?#1 ���EY:Y )!I 

���� �	
��
5�
��# # # # # # # # # # # # # # # # # # # # *1.

?#F :�!�?IY:�;��! 

���� �	
��
5�
��# # # # # # # # # # # # # # # # # # # *F-

?#G ���EY!Y )!I 

���� �	
��
5�
��# # # # # # # # # # # # # # # # # # # # *F*

?#/ :�!�?IY!� ��J�! 

���� �	
��
5�
��# # # # # # # # # # # # # # # # # *F,

?#H :��Y!�Y )!I 

���� �	
��
5�
��# # # # # # # # # # # # # # # # # # # # *FF

?#. �:Y?�= 

���� �	
��
5�
��# # # # # # # # # # # # # # # # # # # # # # # # # *F+

?#+ � :YE!:: 

���� �	
��
5�
��# # # # # # # # # # # # # # # # # # # # # # # *GF

?#*- ?���	

 �������
�� �� ��	 :��# # # # # # # # # # # # # # # # # # # # # # # # *GG

?#** :)?)�Y!�� 

���� �	
��
5�
��# # # # # # # # # # # # # # # # # # # # # # *G/



!�%���������

M*N :# �# ?������
# ? :
�5�	 )���
�
� �
�	�

�2 )	���
9�	 ��� '
�	�	

  ����$

�
���
��
# $��� *������ �� #������	 ����
 �� +������������
� */>.@� E����	�

*++.#

M,N �# ?��
�

��� (# (	������

��� ��� (# I
���6# ?������
� ��
�  ������ 
�

' ��? )	��
���
# �� "�����	���
 �� (������,��� �<�	����� :3	�	�� ,--F#

M1N  # ?# (����

# ������� ������ � �����
�
 ��	 %�
���# ���� '
�	2 D :��
� *++H#

MFN  # ?# (����

 	� ��# :���� ?��	���
 ��� �����	 !	���7������	 '
�	�	

  ����$

�
���
�� ;	�3���
# )	���
��� �	5���� ?�
���� :���	 ��
�	�

�2� ?5�
� ,---#

MGN �# (	���
# $� �
�������� �� ������� %� ��
��� ������-��
 ��� .�������� +�����

��������# ��� )�	


� )	���
��� ��
�	�

�2 �� '
	�� ,--1#

M/N :# (	���7��	� �# ������  # ?# (����

� ��� ?# :# :5��
�
# :����$?��	��� :2
$

�	�
 ��� ���
�	  �����
���
�� ;	�3���
� ���� ," (	������
�� ��� ;	�3���

)������5��# $��� �������/
 "���������� ��������� FF>F@� ?���
� ,--,#

MHN :# (	���7��	 	� ��# :���� ?��	��� :2
�	� ?���2


� ���	����
�� ��� �	��������	

��� ���
�	 ?�$8�� ;	�3���
 >�?;�)
@# $��� ����
������
 �� �������
 ��	

"����������� G->G@� ��2 ,--,#

M.N �#  ����
�# !	�	5�
�� )������ ;������
 ���
�� ����
5���  ����	�
 3
�� !��$

��� �	��2
# $��� ����
������ �� +������������
� ,H>F@� ?5�
� *+H+#

M+N  8�� E;# %���
���� �� ++0122 ��� 3 435�6 ��	 ���� ��� 	�������
 �� ��
 	��

 �������� ��� �++0122%7�� ,--F#

M*-N !# !#  �������2� =# C���� !# !���������� ��� ;# 8# J�
�2�# �

�� �
�	��
����

?��	���
 ��� �	�
�� ?��	

  ������ 
� ?� 8�� ;	�3���
# �� "�����	���
 ��

����+��� ?������� �	���
�� �:?� :	5�	��	� ,1$,. ,--,#

M**N &# !# ����	���� 8�� I
��� ��� �# 8# =�# �45	�
�	���� :���2 �� ������  ��5�
��

 ��5	�
��
�� 
� :���� ?��	��� ?55�
���
��
# $��� ����
������
 �� 8�����



+������������
� *>1@� ���2 ,--,#



�-. '�'��/<6���


M*,N  # �	
��	�	
# ���������
�� �� ?��: !� >�
�
��� ?� I��5@# )	���
��� �	5����

�	���� ���5�
�
  ��5����
��� 333#�	����#���0�
�� ?���
� ,--1#

M*1N  # (# �
	��
�� ��#� &# �
	��	� �# !# ;	��2� ��� '# I# :�������# :5��
��� �����
��$

�
��� ��� ����	�� �
�	�

�2 ��� '
�	�	

 8����	�� )	��
���
# $��� ����
������


�� �������
 ��	 "����������� F+>+@� :	5�	��	� ,--*#

M*FN I# �# �		�	2 ��� �# ;
�

��# ���	
�
���
�� ��	 	�	��2 ���
��5�
�� �� � 3
�	�	



�	�3��� 
��	����	 
� �� �� ��� �	�3���
�� 	��
����	��# �� "�����	���
 �� $���

$�'9+9�� ?�������	� ?��
��� ?5�
� ,,$,/ ,--*#

M*GN �# �	��� :#$ # :�	�� �#  ������ ��� �#$�# 8����# �	�
�	 )	�������
	
 ��� !�

�����$���  
���
�
 
� ;	4�$�	�	���
�� '
�	�	

  �����
���
��
# "�����	���
 ��

��� $���� +,>,@"1GFW1HG� �	�����2 ,--F#

M*/N �# �# ��
��
�
# I�2	�	� :5��	$)
�	 ?���
�	����	 ��� '
�	�	

  �����
���
�� 
�

� ���
�� ���
����	�� '�	� �

�� ����
$��	�	�� ?��	���
# .��� )��
 ���������

*������� ?����� *++/#

M*HN �# �# ��
��
�
 ��# ��� �# �# ���
# E� I
�
�
 �� '
�	�	

  �����
���
�� 
� �

���
�� ���
����	�� 3�	� �

�� ����
5�	 ?��	���
# 8�����

 "��
���� +�����

��������
� />1@� ����� *++.#

M*.N �# �# ��	��
��� C# '���� ��� )# ����# ? :���� ?��	��� �	�	
�	� ?���2 �

�� �

:
���	 !�  ����	� ��� �
�
��� (	������
��# $��� ����
������
 �� �����
� �

������ ��	 ������-��
� G->*,@� �	�# ,--,#

M*+N I#  # ������# ?55�
���
�� �� ?��	��� ?���2
 �� ���
�	  �����
���
��
� ���� ��"

(	��$����
�� ��� �
�	��
��$��$?��
���  ��

�	���
��
# "�����	���
 �� ��� $����

.G>.@� ?���
� *++H#

M,-N �# ��%�	3���� �#$ # ;
	����� �# ��������� ��� �# !%��	��# ? ����	3��� ���

�	

�� 
5��	 	45�����
�� �� �	
����	 	B�
	�� �	�3��� 5���	


�� �� ����
5���	

��


��
# �� "�����	���
 �� ��� 5�	 8���
��� �� ���
��� "����

��
 : �����������
�

5��	
 .HW*-*� ����
�� :5�
�� *F $ *G �	�����2 ,--F#

M,*N �# ��%�	3���� �# =�� ��� �# !%��	��# ��3	�  ������ 
� �
�	��
���� ���
�	

?� 8�� ;	�3���
# �� $�& '��������� /������� $�����������/� (	��
�� �	����2�

E����	� *.$,- ,--F#

M,,N �# ��%�	3���� �# =�� ��� �# !%��	��# ����	�

�� ��	 �	
����	$	B�
	��2 �� ��	

�
��0�� 5������� 
� �
�	��
���� �� ��� �	�3���
# �� "�����	���
 �� ��� 1�� $��

����������� +��������� �� �%��9+���
���
 : 8�����

� 5��	
 H*W.F�  ������

�	4
��� /$.# E��# ,--G#



'�'��/<6���
 �- 

M,1N !#  # 8��
	�# "��
�	 ����� �������
# �E8; '�I�C D :E;:� �; #� *++H#

M,FN ;# 8��
��
� ?# )# �������� )# ?�
���� ��� �# (	��
	# ?��5�
�	 �
���$?��	���

�� :
�
��� :��
����	# �� "�����	���
 �� 4
� ��#�;�#� +��������� �� �	���� �

���	
��� ��	 #�
���
 ���#/2<�� ,--/#

M,GN !# '# 8	��� ��# ��� ?# �# ������A# :3
���
�� (	�3		� �
�	�

�2 ��� ����
5�	4
��


� ���E :2
�	�
# $��� ����
������
 �� +������������
� G1>/@� ���	 ,--G#

M,/N '# !# 8	
��	����� ?#  ��������
��� ��� 8# (�����

����# ��	��2$	B�
	��

������
���
�� 5������� ��� 3
�	�	

 �
���
	�
�� �	�3���
# �� "�����	���
 �� ���

��
��� $������������ +��������� �� #�
��� #������� ������2 ,---#

M,HN �# 8	�# ���E ?���
�	����	 ��� '
�	�	

  �����
���
��# $���� ���������� *����

���� *->,@� ,--/#

M,.N ;# 8��
5��� ��� �# ������# ��� �#$+ ���	����# ��	�
�	 8��� �)!� ,--*#

M,+N �# 8�# � +��

�)���� %�
��� '����
��� ��� (�
����� ���������� �� 8�����



%��� ���
���
# ��� )�	


� ?�
���� :���	 ��
�	�

�2� ,--F#

M1-N ���	�

� ?�	�
��
 ���# $����
�� "($#� 03= ���� 
��> ��
����	 �����

�� $#)5?@5.6

$;A ��	������;	���	������ �'�5@?56 (';$' ��� ����� $#)5<?=� ,---$,--,#

M1*N '#  # ���	
# �����
� � ������ +������������
# ;	3 C���" '
�	2� *+HF#

M1,N :#$:# �	��� �# )# E������� �# =�� 8#$�# I
�� ��� '# �# J���	�# �45	�
�	����

�������
�� �� :���� ?��	��� :2
�	� �	��������	 ��� '
�	�	

  �����
���
��
#

$��� ����
������ �� �������
 ��	 "����������
� F/>/@� ���	 *++.#

M11N :#$:# �	��� �# =�� 8#$�# I
�� ��� '# �# J���	�# �45	�
�	���� :���
	
 �� :5��
��

:
������	 ���
��
�� �� +-- �8� ��� :���� ?��	��� :2
�	�
# $��� ����
������

�� �������
 ��	 "����������
� F/>H@� ���2 *++.#

M1FN :#$:# �	��� C# '���� C# K
��� ��� )# ����# ? ;��	� :���� ?��	��� :2
�	�

��5�	�	����
�� ��� (����$(��� '
�	�	

  �����
���
��
# $��� ����
������


�� �������
 ��	 "����������� G->G@� ��2 ,--,#

M1GN 8# &���	� �# ��������� ��� �# !%��	��# ? ������25
�� �������� ��� �2���
����2

!	���7������	 :2
�	� ��  �
5 �	

��
 # �� "�����	���
 �� ��� $��� 8���
���

������������
 (����B������� #�
���
 �� +��� �#�+�� 8������� �	����2� ,--,#

M1/N ?# &���	��
� ?# ?�����2� �# # (����	2� ��� :�5]�	�# �
�	�

�2 �	���
9�	
 3
��

�
5��	 ���	���
 
� 
����� ����
5��� 5��5����
��# �� "�����	���
 �� ��� 4<�� $���

$������������ #����
��� �� "��
���� $�	��� ��	 ������ (�	�� +������������


�"$�(+2=�� (	��
�� �	����2� **$*F :	5# ,--G#



�-- '�'��/<6���


M1HN )# &��3	�# %� �������� �� � ��
����	 ��� #���� �������
6 �
��� 	������ .����

�������# �# :�# )�	


� ��
�	�

�2 �� )3	��	� ��	 ;	��	�����
� ,--*#

M1.N C#$(# &�� J# :������������ ��� ;# 8# J�
�2�# �	�
�� ?��	

  ������ ��������


�

�� �
�	��
���� ?��	���
 
� ?� 8�� ;	�3���
# �� "���3 �� $��� $�'9+9��

����� ,---#

M1+N ;# &��� ��� I# (# �
�
�	
�# ?�	���	 :;! �� � �	�	���
�	� �
�	�

�2 :	�	��
��

 ���
�
�� :��	�	# $��� +������������ )������ 1>1@� ����� *+++#

MF-N )# &����

� �# �������
� ��� I# )�


���
# ? �? 5������� ��� ���� 	45��
���
��

�� �
�	��
���� ?��	���
 
� ?�$��� '
�	�	

 ;	�3���
# �� "���3 �� ��������

?���5��

� �:?� ���	 ,--1#

MF*N !# &��	�	�# :
�
�
����

	��	�
���	�	�����
� �%� �
	 �������
	 8����	

����
���$

���
���
��# �� "�����	���
 �� C%� 7�����

 � $�& '��������� /��������/�

?���	�� �	����2� ,1$,G E��# ,--/#

MF,N �# �# &���
 ��� !# �# ����	���# �������
 ��� ��� �����������
# �����3$8
���

,--,#

MF1N '# &���5��3
�
�
$&�

	�# �$�9�%����
������ ��
�����	 ��� &#��

7����������# ��� )�	


� ��
�	�

��� ��
�	�
�
��� &���
���	� ,--G#

MFFN I��� �# ��� ��5��� !# ��� ?���3��� �# �# )������5�� ������	�	�� 
� '
�	�	



?� 8�� ;	�3���
 3
�� :5��
��  ����	�
$ ? �? I�2	� �	�
5	��
�	# �� "���

���	���
 �� ��� #� ���� $��� #����
��� �� +�������
 ��	 +������������


�$#++�� )����
��� ����2� ���2 ,--,#

MFGN I��� �# ��� )�
��
3��� !# ��� !������

����� !# ��� ?���3��� �# �# ���  �6	�2�

�# ? ;��	� �? I�2	� �������� ��� :5��	 �
�


�� ����
5�	 ?��	

 
� '
�	�	



?� 8�� ;	�3���
# �� "���3 �� ��� $��� $+++�� �
��
� E����	� ,--,#

MF/N I?;0�?; :�������
  ���
��		 �� ��	 ����  ��5��	� :��
	�2# ��#$;$���

#�	 ?20344 D 8�����

 )�� ��	��� ����

 +������ ���+� ��	 "��
���� )����

�"�E� #����B������
� *+++#

MFHN �# 8# I	��	 ��� �# �	��	�
	�# ?� E�	��
	3 �� :���� ?��	��� )	�������2 ���

���
�	  �����
���
��
 :2
�	�
# $��� +������������
 #�� ��
� ,>F@",W*1�

*+++#

MF.N �# �# I	
 ��� )# �# I
�# �
�
���
�� �� �
�	��
��
 �� ?��
��� �� ����
5��� :
����



�  ��? :2
�	�
# $��� ����
������
 �� +������������
� F.>/@� ���	 ,---#



'�'��/<6���
 �-�

MF+N �# I
�	��
 ��� )# :# !�55�5���# #���� �������
 ��� 8�����

 +������������
>

$#�F= ��	 ����	 &��������� +%�� �����������
# ��	��
�	 8���� *+++#

MG-N !# I��3
� ��� �# (�	�����# (' +������ %�
��� ������ ��	 �����������
# ��	��
�	

8���� ,--,#

MG*N �# �
	���	� ��� �# ?# 8�	�	�# (��
�
�� ��	 �	��������	 �� '
�	�	

  ����$

�
���
�� :2
�	�
" )�	��2 ��� �����
�	 �� ����
5�	$?��	��� )	���
9�	
# $���

+������������
 ��������� F,>*-@� E����	� ,--F#

MG,N �# # ���������� �# !���������� ��� (#�# J�� J		�# ;�II8E " ? �? ���$

����� ��� ?��5�
�	 ?��	��� ?���2 (�
	� '
�	�	

 ?� 8�� ;��3���
 
� ����
5���

���
���	��
# �� "�����	���
 �� $��� &)9.�+9�� ,--F#

MG1N ?# ;�

5��
� :# C	� ��� !# �# 8
������# ? �? �������� ��� ���
�	 ?� 8��

;	�3���
 �

�� �
�	��
���� ?��	���
# �� "���3 �� $��� 8+�+�  �
����� �I�

:	5�	��	� ,/$,+ ,---#

MGFN 8# ;����# #
�����	�.��� �	���� � ������� #�
���# ��� )�	


� )	���
���

��
�	�

�2 �� '
	�� *+++#

MGGN (# EL8��� ��� ?# �	��
��# ��� $��� ?20344 ���	����6 � %�
�����/
 +��������#

���� ��	

� *+++#

MG/N �#$:# ���� ��� �# �	���# ���E�?;" ? ���E �? �������� ��� ?� 8�� ;	�$

3���
# �� "�����	���
 �� ��� 1�� $������������ +��������� �� �%��9+���
���


: 8�����

� /$.# E��# ,--G#

MGHN �#$:# ����� ?# ;������ �# �	���� ��� 8# I		# :�? �$�? " �����
�� :5��
��

!	�
	 �

�� ���E �����	�$�3��	 �? # �� "�����	���
 �� $��� $++� ,--G#

MG.N ?# �# ������A� �# �	
�	��� ���  # ��5��
�
# #���� �������
 ��� ������ +�����

��������
 �$�> ���������	�� ��� ���������� ������������# ���� '
�	2� ,---#

MG+N ?# �# ������A ���  # (# ��5��
�
# :5��	$)
�	 ����	


�� ��� '
�	�	

  ����$

�
���
��
# $��� #����� "����

��� ��������� ;��	��	� *++H#

M/-N �# I# �	�
�
 ���  # I# 8����3�2# ?���	 ��� :5��	 �
�	�

�2  ��5��

��
 
� �
�$

�	�	�� ���
�	 !��
� ���
����	��
# $��� ����
������
 �� �������
 ��	 "�����

������� F/>/@� ���	 *++.#

M/*N ��
�
5
 :	�
���������
# #�0144> G02	.� 
����� ���� ������ �����B�� ��� 8)���

,--1#



��: '�'��/<6���


M/,N !# !���������# E� ��	 �	��������	 �� ?� 8�� ;	�3���
 3
�� (	������
��

?��	���
# �� "�����	���
 �� �����9+� I��� (	����  ?� �:?� E����	� F$G

,--*#

M/1N )# :# !�55�5���# 8�����

 +������������
# ��	��
�	 8���� ,--,#

M/FN (# !����
# (' ���������������
# �	��
�� ������
��� ���#� *++.#

M/GN �# !����
���� �# !�
�
�$�������
� ��� &# �# I
�# :���3��	 !��
� ?���
�	����	 3
��

:���� ?��	���
" ? )����
�� �� ?����
���
 ���  ��5�	4
�2# $��� ����
������

�� #������	 ����
 �� +������������
� *H>F@� ?5�
� *+++#

M//N J# !���5�� ��� )# 8# �	��# �
�
��� 	�	��2 ���
�	 3
�	�	

 �	�3���
# $���

*������ �� #������	 ����
 �� +������������� *H>.@"*111W*1FF� *+++#

M/HN :# !%���5�  # :��
��	����	�� &# J���	��� ��� �# ��%�	3���# �	��������	 ��

�

��
���	� �����
���
 ��� ��5����2 ������� 
� 3
�	�	

 �	�3���
# �� "�����	���


�� ��� $������������ "������� ��	 %�
�������	 "����

��� #����
���� ;
�	� �����	�

,, $ ,/ ,--1#

M/.N :# :���2	
 ��� ?# ;�
���
�
�# ?��	��� :	�	��
�� 
� ���E :2
�	�
# $��� +���

����������
 ��������� F,>*-@� E����	� ,--F#

M/+N :# :�����# ?���2


 �� .-,#**� �? " ? K�:� ��
��	

� ��� �	��������	 �	�
5	�$

�
�	# )	���
��� �	5���� �	5����	�� ��  ��5��	� :�
	��	� :���2 (���� ��
�	�

�2�

���# ,--1#

MH-N �# �# :������# ������ $"6 ��� $������� H�������	# ��	��
�	 8
�� �)!� *++.#

MH*N  # :��� ?# 8
����� )# E�
��� ��� ;#  # &�������# ��
� (	������
�� �� ��	�$

����
����2 :�		����	 ����

�
� ?���2 !��
���� ?��	���
" )�	��2 ��� �45	�
�	��#

$��� ����
������
 �� �������
 ��	 "����������� G,>H@� ���2 ,--F#

MH,N  # :�� ��� ;#  # &�������# �
�	��
�� �� ?��
��� �
�
���
�� (�
	� �� � :
���	

���� :���� ?��	��� �

�� ��:� ?����
���3
�� �	�
��
� :
����
# $������������

*������ �� #����� "����

���� *>,@� ,--F#

MH1N �# )���
� �# ����
�� !# (�����
�� ��� ?# !	�# �
�	��
���� J
�����  ���
	� :	�

��

��� �
�	��
���� ?��	���
 
� ���
�	 ?� 8�� ;	�3���
# �� "�����	���
 �� �+�

�������� ���	 ,--,#

MHFN �# =# )��# #��������� +�	��� #�����
 ��� 8�����

 +������������
 � �� '���

'�	��� +������
# ��� )�	


� 8��� &��� ��
�	�

�2 �� :�
	��	 ��� )	�������2�

,--1#



'�'��/<6���
 ���

MHGN J# )������ 8# ���������
� ��� ?# !#  ���	�����# :5��	$)
�	 (����  ��	
 ����

E��������� �	

��
# $��� ����
������
 �� $���������� ������� FG>G@� ���2 *+++#

MH/N J# )������ 8# ���������
� ��� ?# !#  ���	�����# :5��	$)
�	 (����  ��
�� ���

'
�	�	

  �����
���
��
" �	��������	 !	
���
# $��� *������ �� #������	 ����


�� +������������
6� *H>1@� ����� *+++#

MHHN J# )������ ;# :	
����
� ��� ?# !#  ���	�����# :5��	$)
�	  ��	
 ��� 8
�� ����

!��	 '
�	�	

  �����
���
��" �	��������	  �
�	�
�� ���  ��	  ��
�����
��#

$��� ����
������
 �� $���������� ������� FF>,@� ����� *++.#

MH.N �# )	�����#  �5��
�2 �� ����
$���	��� ���


��  ����	�
# )	���
��� �	5����

?)D)$(	�� I��� ���	 *++G#

MH+N (# �# J�� J		� ��� &# �# (����	2# (	������
��" ? J	�
��
�	 ?55����� ���

:5��
�� �
��	�
��# $��� �##" ��������� ?5�
� *+..#

M.-N �# �# '
� ��� �# 8# '
��	�
# ?���2


 �� 82��
� :	�	��
��0��4
���$!��
�  ��$

�
�
�� 
� !�2�	
 ���
��# $��� ����
������ �� +������������
� FH>*,@� �	�	�$

�	� *+++#

M.*N �# '���
��
�2� �# �# ��
��
�
� �# �# ����	�� ��� !# ?# J��	���	��# J$(I?:)"

?� ?���
�	����	 ��� !	��
�
�� J	�2 8
�� ���� !��	
 E�	� ��	 !
��$:����	�
��

'
�	�	

  ����	�# �� $###�� *++.#

M.,N ?# �# '2��
�
�
 ��� :# �# (��
�	
�# E� �5�
��  ��?  	��  �5��
�2" ������

 ��5�
�� ��� :����	�
�� �6	��
 �� (	������
��# $��� ����
������
 �� C�����

���� ����������� G,>,@� ����� ,--1#

M.1N �# =� ��� �# !%��	��# ;	
��������� �

���	�2 ��� ��� 5������� ��� ���	�


�

�� ��	 ����
5�	$�
�	��
����$���	���
 
��	�	# �� "�����	���
 �� C%� 7�����



� $�& '��������� /��������/� ?���	�� �	����2� ,1$,G E��# ,--/#

M.FN �# =� ��� �# !%��	��# ;	
��������� �

���	�2 ��� ��� 5������� ��� ���	�


�

�� �

�� � ��3 ���5�	4
�2 �
�	��
���� 
��	�	# �� "�����	���
 �� 8���	 ������

+�����

 �8�+/2<�� (	
A
���  �
��� **$*1# :	5# ,--/#

M.GN I# 8# ��	�� ��� ���
� ;#  # )
	# �
�	�

�2 ��� ����
5�	4
��" ? ������	�$

��� )���	�6 
� ����
5�	$?��	���  ����	�
# $��� ����
������
 �� $����������

������� F+>G@� ��2 ,--1#



��
 '�'��/<6���


����
���
�� �
��

� =�� �	��R !%��	��� ���
��" ::(" � ��
 %� ��
��� #�������� +�������� #�����

��	 $�
 ��
����	 $�������������# ��" ����		�
��
 �� ��	 *F�� ���� ���	����
����

 ���	�	��	 �� )	�	������
���
��
 >� ) ,--H@� �	����� ����2

�# *F $ *H� ��2�

,--H

� =�� �	��R !%��	��� ���
��" $����������� #�����

��� ������-�� ��� %� ��
���


�������� +�������� �� �� $�	��� �� ��������# ��" ����		�
��
 �� ��	 ,��

���	����
���� �)�  ���	�	��	 �� ?��	���
 >�;� ? ,--H@� ���
��� �	����2#

,. $ 1-� ������ ,--H

� =�� �	��R !%��	��� ���
��" �����������	 %�
�� ��� ��	 ��+ "������� ��� �����


�
��� ��� ���������%������������������
 #�����# ��" ����		�
��
 �� J�� &����	



$ �)� ���������� L���
�
�2L� ?���	�� �	����2� ,1 $ ,G� E��#� ,--/

� =�� �	��R !%��	��� ���
��" �����������	 %�
�� ��� ��	 ��+ "������� ��� �����


�
��� � )�
 +��������� %���������� #�����# ��" ����		�
��
 �� '���� ���
�	

 ����	

 >'� L-/@� (	
A
���  �
��# + $ **� E��#� ,--/

� ��%�	3���� �����
�
R =�� �	��R !%��	��� ���
��" $�����
��� ��� (�
�������!������

�� ��� +#��;+� "������� �� %���������� �	 ��� ���
���
# ��" ����		�
��
 ��

��	 F�� ���	����
����  ���	�	��	 �� ?�$8E ;	�3���
 D '
�	�	

 >�����;E'

L-G@�  ������ �	4
��# / $ .� E��#� ,--G

� =�� �	��R ��%�	3���� �����
�
R !%��	��� ���
��" � )�
 +��������� %����������

#����� ��� ������ �	 ��� ���
���
# ��" ����		�
��
 �� ��	 */�� ���� ��$

�	����
���� :2�5�

�� �� �	�
���� ������ ��� ���
�	 !��
�  �����
���
��


>���! L-G@� (	��
�� �	����2 ** $ *F� :	5#� ,--G

� ��%�	3���� �����
�
R =�� �	��R !%��	��� ���
��" "�
�� +������ �� %����������

������ �	 ��� ���
���
# ��" ����		�
��
 �� J�� &����	

 $ �)� ����������

L?��
	�� ���	��
�	��	L� �# */+$*HF� (	��
�� �	����2# *. $ ,-� E��#� ,--F


	Introduction
	Mobile ad hoc networks (MANETs)
	Resources in wireless communications
	Definitions on resource-efficiency
	The objective of this work
	The outline of this thesis

	PHY Layer Designs: Multi-Antenna Techniques
	Traditional single antenna digital communication system
	Fundamentals on antenna
	RF front-end signal processing

	Smart antennas (beamforming)
	Basic principle
	Switched beam (fixed beamforming)
	Steered beam (adaptive beamforming)

	Space diversity techniques
	Basic principle
	Receive diversity
	Transmit diversity & Space-time coding (STC)

	Multiple-Input Multiple-Output (MIMO)
	A cost analysis on multi-antenna techniques based on hardware complexity and power consumption

	MAC and Cross-Layer Designs
	Traditional MAC designs for MANETs
	The CSMA/CA used by IEEE 802.11 MAC
	Examples for further explanations on CSMA/CA
	My proposal to the exposed node problem

	BF-MAC
	An overview of previous investigations
	Multi-directional-antenna (MDA) based BF-MAC (MDA-MAC)

	Space diversity MAC (SD-MAC)
	BF-MAC vs. SD-MAC
	Radiation power control (PC)
	Transceiver power management (PM)
	Energy model for the transceiver
	Power management mechanism

	Network simulation
	Simulation configurations
	Results

	Resource-efficiency comparison

	Simplified Switched Beam (SSB): PHY + MAC Design and Simulation
	Motivation
	Antenna array selection
	The design of SSB
	Basic principle
	Analysis on the length of the training period
	SSB-MAC: the associated MAC protocol
	Beamforming vs. Diversity
	Interference suppression (IS) technique

	Network simulation
	Simulation configurations
	Results

	Resource-efficiency comparison

	SSB Test-bed Implementation and Measurements
	Carrier frequency band selection
	Hardware implementation
	Antenna
	RF switch
	RF combiner & divider
	RF cables
	RF transceiver & Baseband component

	Software stack
	Upper-layer software (ULS)
	SSB processing unit (SPU)

	Test-bed measurements and analysis
	Scenario
	Selected measures
	Experiment configurations
	Measurement results and analysis


	Conclusions and Outlook
	Conclusions
	Outlook

	SSB Processing Unit (SPU) Implementation Details
	Operating specification of CC2400 SPI
	Top-level schematic diagram of the SPU
	State machine descriptions for each component of the SPU
	Sub-modules of SPI master
	Large packet transfer support of SPI master
	Sub-modules of SSB controller
	Other auxiliary modules of the SPU

	Experiences learned from the implementation
	The array signal processing must be performed using the hardware-based solution
	Two VHDL design tips

	Measured timing diagrams on I/Os between CC2400 and SPU

	Derivation of IF and Baseband Signals with Phase Shift
	Derivation on the I-channel
	Derivation on the Q-channel
	Derivation applying the analytic signal representation
	Derivation of baseband signals with phase shift
	Concluding remarks

	List of Abbreviations
	List of Symbols
	List of Figures
	List of Tables



